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Question Number : 1 Question Id : 7532296878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons (A, B, C, D and E) are sitting on a bench facing North. D is sitting immediate right of A but second left of C. If E is sitting
immediate left of A, then what is the sitting position of B?

Options :

1. * Immediate left of E

2. * Immediate right of C

3. % Exactly between D and C
4. * Exactly between A and C

Question Number : 1 Question Id : 7532296878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uid fdd (A, B, C, D, IR E) SR BT SR TA PP UH Sd W IS &1 D, A P a5 3R o1 &1 H 931 7, fhg € & 918 SR g M R
S3TEI T E, A P I 3R 31 A H 9318, ol B DI 56 B! Rufd Famg?

Options :

1. % EP a3 3R 3 T A

2. % CP TS 3R 31b IIA |

3. 3B D AR CH A H

4. % 3B A MR CHALTH

Question Number : 2 Question Id : 7532296879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five players (V, W, X, Y and Z) are standing in a row facing the goal post. V is standing second left of Y, who is extreme right in the row. X is
second to the left of W and immediate right to Z. Who is exactly in the middle of the row?

Options :
1. % W
2.9V
3.% X
4. % 7

Question Number : 2 Question Id : 7532296879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gig faamet (v, W, X, Y 3R z) Td URe &1 3R & b U Uad B @S g1 V, Y & dT8 3R gOR R R TSI §, ol Ufad & i RR R
TSTEI X, WP I3 AR IR VM R g AR Z F T8 3R 31% I A g | Ufdd & a1 A W D 72

Options :

1. % W

2.9V

3.% X

4. % 7

Question Number : 3 Question Id : 7532296880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Seven girls (T, U, V, W, X, Y and Z) are standing in a row all facing East. Z is exactly in the middle of the row, while V and W are exactly to her
left and right, respectively. W is immediately to the left of Y, who is third to the right of V. T is second left to V, while X is immediately to the
right of T. What is the sitting position of U?

Options :

1. ¥ Extreme right in the row

2. # Second to the right of V

3. % Second left to the extreme right
4. ¥ Immediate left of T

Question Number : 3 Question Id : 7532296880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 ASfHTT (T, U, V, W, X, Y, 3R Z) Td B! 3R T4 dxeb U Ufdd W Wl ¢ | z Ufdd & dl A T §, idich v 3R W HHI: ISP a5
IR IR AFTTARI W, Y F &hrc%wfr% SV & L M AM VM WREI T, V& a5 3R g VM R g, b X, Th
T 3R B T F 81 U B Sod B R

Options :

1. ¢ Ufdd & qE RR IR

2. % V& a3 3R G RIF |

3. % QURR Y TE SR EWM VAW

4. % TH % R3S TTAH

Question Number : 4 Question Id : 7532296881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven students (L, M, N, O, P, Q and R) are sitting on a long bench facing the blackboard. N is exactly right to the person sitting in middle of the
row, who 1s immediate right of O and P is exactly fourth to the right of O. R is on extreme left of the row and Q is sitting just next to him. If M is
not the person who is sitting in middle of the row, then what is the sitting order of M to the person in the centre?

Options :

1. # Fourth left
2. ® Second left
3. ® Third right



4. ¥ Second right

Question Number : 4 Question Id : 7532296881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1d fa=mdf (L, M, N, 0, P, Q, 3R R) &IPhaIS I 3R T HPb U dall 9 R 93 | | N, Ui & 7eg § 96 aafad & als 3R 3l sra #
93718, SO & TS R SIS TTAH 318 3R P, 0 F TTs 3R 31 I WM WR g1 R Uk & 918 RR W § 3R Q IT& 3ib T H 9311
gfe M tfad & 7 § doT fad 81 7, a1 7 H o6 fad & e M & 96 BT HH 18?2

Options :

1. % g7 3R WY VMR

2. % §E R GW AW

3. % TR R IR R W

4. ¥ TR IR TN IIAWR

Question Number : 5 Question Id : 7532296882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jatin ranks 32nd from top in a class of 39 students. What is his position from the bottom?
Options :

1. ® 7th

2. ¥ 8th

3. % 9th

4. % 10th

Question Number : 5 Question Id : 7532296882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SifH 39 BT B U Hall § NN F 320 RIM WR | =i I BT RIH M52
Options :

1. % 74

2. gdi



3. % odj
4, % 10d]

Question Number : 6 Question Id : 7532296883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of certain students, Geetanjali is 24th from the left and 35th from the right. What is the total number of students in the row?
Options :

1. ¥ 58

2. %59

3. % 57

4. % 60

Question Number : 6 Question Id : 7532296883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o el 3 T ufda §, Tdioifer a15 3R ¥ 249 IR <15 3R ¥ 350 RIM WR 7| tfaa & et o g e fova g2
Options :

1. ¥ 58

2. % 59

3. % 57

4. % 60

Question Number : 7 Question Id : 7532296884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman celebrated his birthday on 10th November 2020, which was a Tuesday. What will be the day on his birthday in 2022?
Options :

1. * Friday

2. % Monday

3. % Thursday

4. * Sunday



Question Number : 7 Question Id : 7532296884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 10 FdSR 2020 1 HITAAR o [ ST THIGH AR 2022 H IHHbT FHieH (b &1 grm?
Options :

1. ® YPdR

2. % AR

3. ¥ T[RdAR

4. % QAR

Question Number : 8 Question Id : 7532296885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 20th October 2019, Ketaki and Raman celebrated their anniversary on a Sunday. What will be the day on their anniversary in 2023?
Options :

1. ¥ Friday

2. # Saturday

3. # Thursday

4. ¥ Wednesday

Question Number : 8 Question Id : 7532296885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 AR 2019 PI ATAR P & FHad! SR I = 3T WM B ATATRE TR | 2023 T 3! [MGT B! WANRE foby fed ghf

Options :

1. ¢ PR
2. % YMHAR
3. % T»dRR
4. % gYdR




Question Number : 9 Question Id : 7532296886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statement(s).

Statements:
1) All Cats are Rats.
2) Some Rats are Dogs.

Conclusions:
I. Some Cats are Dogs.
II. No Cat is a Dog.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 9 Question Id : 7532296886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T HHT SR FeH ol B eaFydes ¢ | HUH1 &) I A gU faaR &3, Hal 81 3 IHad: 1 af 3 fF uedia 81d 81, siR g s %
feu e sl # ¥ P19 Y HUA &1 difhd U J UaH Hd 3|

DHY:
1) g+t fafcerai =g B
2) PSR PUT|

fpy:

1. $3 ffeaai a5

1. PIs foceh Hal T8l 8
Options :

1. % $ad fAsHY [ gTe AT B |
2. % Hgd ARy 1] T HRAT B |




3. % fIp [ 3R 11 Y UTel H3d § |
4. a1 e [ 3R 77 €Y 11 UTel HRAT B

Question Number : 10 Question Id : 7532296887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statement(s).

Statements:
1) Some Bats are Balls.
2) All Balls are Rackets.

Conclusions:
I. All Rackets are Bats.
II. Some Bats are Rackets.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 10 Question Id : 7532296887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U HYAT 3R BT Dl YIS UG | HUAT B! I T gU fIaR &9, ¥dl €t d Iraa: 1d 9t ¥ g udid ga 8, siR g % fop
faw e fsr sl 7§ ¥ P19 Q HUA BT difhs U J Urad Hd 3|

HY: - %

) FS I A gl

2) gt §fd YPbe B
fsep;

g ¥FHe 9T gl
[1.HS oC YPhe g




Options :

1. % Had frsey [ UTed Bl g

2. ¢ Had sy 11 T ST g |

3. % fAspY 1 3R 11 GF1 UTeH & g |

4. % T Fspy 1 3R T8 11 T SRaT B

Question Number : 11 Question Id : 7532296888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One statement is given here followed by two conclusions I and II. Find which of the given conclusions is true?

Statement:
B>D<A=E<C

Conclusions:
I.C>D
I.E>=D

Options :

1. #® Only conclusion I is true

2. % Only conclusion I is true

3. ¥ Both conclusions I and II are true

4. ¥ Neither conclusion I nor II is true

Question Number : 11 Question Id : 7532296888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T HU IR TV Tafdrd af Fspy 1 3iR 11 fRT U § | Hyi & 3MyR R g} FAehf o1 98 Hiforu|

hY
B>D<A=E<C

frpy -
.LC>D
ILE>D



Options :

1. % Paq ey 1 T8 @

2. % &Had fsHY 11 Tg!

3. ¢ fspy 1 3R 11 G et &

4. % TN HY 1R 1 TS

Question Number : 12 Question Id : 7532296889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the following letter, number, symbol string and answer the question that follows.

UaW7062A5860G4X3T§4HL£S9+D5&9U
If all the numbers are dropped from the above string, which of the following will be eleventh from the end?

Options :
1. % §
2.% 0
3.% %
4. ¥ G

Question Number : 12 Question Id : 7532296889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad sier, Tw, Udie e &1 dey o iR e fou e us &1 3wk &

UaW782A5860G453T§4HESI+D5&9U

e IWRIad 1§ 9t Temsfi &l ger fear o g, at g & § &1 91 ofd § TRed RIF R g
Options :

1. %3

2.% 9

3.% 3%

4.9 G



Question Number : 13 Question Id : 7532296890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the following letter, number, symbol string and answer the question that follows.

B6T+P46US6DYE8>E2F#3J7NaW9=L5K
How many such numbers are there in the string, each of which is exactly followed by a consonant?

Options :
1. %5
2.¥6
3.% 7
4. % 8

Question Number : 13 Question Id : 7532296890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sier, Tem, udie & o1 ey o ok i e mu uy &1 3R <

B6T+P45US6DWYS>E2F#3J7TNaW9=L5K

&7 & U foramit TReame &, oF @ vd® & 31 d1g T o /2
Options :

1. %5

2.¢¥6

3. %7

4. % 8

Question Number : 14 Question Id : 7532296891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the following letter, number, symbol string and answer the question given below:

%P43DSO6A#3IT&NTWI=LSDY8>E2B6+TK
How many such letters are there in the string each of which is exactly preceded by a symbol but not followed by a number?

Options :



1. * 6
2.%5
3. % 4
4.3

Question Number : 14 Question Id : 7532296891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 31&R, e, Udle §@dl & YR WR AT 7T Uy &1 3R SIS

PA4SDS6A#3J7&NTWI=-L5DP8>E2B6+TK

2 Ga | foran T 31eR g oM 3l Ugd U Uit & aifte] 3% 31 ale Udh T T8} 82
Options :

1. %6

2. %5

3. % 4

4.43

Question Number : 15 Question Id : 7532296892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, LIAISON is written as NKCKUQP. How will PRICKLY be written in that language?
Options :

1. ¥ RTKEMNA

2. % QSJDLMZ

3. % RTKDLNA

4. % QSJEMNZ

Question Number : 15 Question Id : 7532296892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T FAf3d Fe U H, If LIAISON &1 NKCKUQP foral T €, df ST e HTST H PRICKLY &1 ford TR forar S



Options :

1. ¥ RTKEMNA
2. % QSJIDLMZ
3. % RTKDLNA
4. % QSJEMNZ

Question Number : 16 Question Id : 7532296893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ALMIRAH is written as AAHILMR. How will HORMONE be written in that language?
Options :

1. ¥ ENOMROH

2. % ENOHOMR

3. ¥ EHMNOOR

4. % EHNMORO

Question Number : 16 Question Id : 7532296893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i3 T U &, afc ALMIRAH &1 AAHILMR foraT SiTd &, f 33T §e U8 H§ HORMONE &1 fh e U ferar S
Options :

1. % ENOMROH

2. # ENOHOMR

3. ¥ EHMNOOR

4. % EHNMORO

Question Number : 17 Question Id : 7532296894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, IDENTIFY is written as YFDIITNE. How will FOUNTAIN be written in that language?
Options :

1. % OFNINUTN



2. ¥ NIOFATNU
3. # NIFOTAUN
4. * NIOFTAUN

Question Number : 17 Question Id : 7532296894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf¥d Fe U &, af IDENTIFY &1 YFDIITNE foRal ST €, df 39T &e HTST H FOUNTAIN &1 fohd U ferat simaem?
Options :

1. ® OFNINUTN

2. ¥ NIOFATNU

3. ¥ NIFOTAUN

4. % NIOFTAUN

Question Number : 18 Question Id : 7532296895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reema went 4 km straight from her house eastward, took a right turn and covered 2 km. From here she turned right and travelled 4 km and then
took a left turn and stopped after covering 3 km. Which direction was she facing at last?

Options :
1. * North
2. * West
3. # East
4. ¥ South

Question Number : 18 Question Id : 7532296895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 310 TR | gd Y 3R Y 4 ke STl B, ST Gl R 3R 2 km S B 1 T6T I8 T TSl 3R 4 ke Tl & 3R bR S10 Gt © 3R 3
km e & §1G 3% Sl g1 I8 3fd & [y Gz o ok 3@ o

Options :

1. % 3t}




2. % Ufgm

3. % 7d

4. ¥ g

Question Number : 19 Question Id : 7532296896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan went 3 km straight from his office, then turned left and covered 2 km. He again turned left and travelled 2 km, from here he turned right
and covered 2 km. If he was going westward at last, then in which direction did he initially start from his office?

Options :
1. ® South
2. % West
3. ¥ North
4. % East

Question Number : 19 Question Id : 7532296896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ve 3 HRATAd I Y 3 km ST §, TR ST GSA1 § 3R 2 km T €1 98 U: ST ST § 31R 2 km I &, T81 ¥ 98 ¢ 3T § MR
2 km AT & | TfE I8 i T UfHA BT 3R LT U1, O I 3RY H 30 Praierd § foby famm & =rern I fobar um

Options :

1. % gigor

2. % Uigy

3. ¢ W

4. % Qg

Question Number : 20 Question Id : 7532296897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman started for school from his house and went 4 km straight, then turned left and covered 2 km. From here he turned right and travelled 3 km
and again turned right and finally reached school after covering 2 km. What is the aerial distance between the school and his house?

Options :



1. * 6 km
2. ¥ 7km
3. % 10 km
4. % 11 km

Question Number : 20 Question Id : 7532296897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A 310 TR Y el S o g o1 Y= febam TR e 4 ke e, R ST TSR 2 ke | TET W T8 ETT ST R 3 km Tl 3R :
G0 ST 3R 3fd T 2 km P G2 T HRA & 91 W d UgdT | Tod 3R P TR & a1d B! gals gal fha g7

Options :
1. ®* 6 km
2.% 7km
3. % 10 km
4. % 11 km
General Ability2
Group Number : 2
Group Id : 753229356
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2

Section Id : 753229356



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229429
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532296898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aditya introduced a girl as, “She is my father’s brother-in-law’s daughter”. How is Aditya related to the girl?
Options :

1. * Brother-in-law

2. * Brother

3. ®* Uncle

4. % Cousin

Question Number : 21 Question Id : 7532296898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3 T TS 1 URT T §U Pel, "d8 TR U1 & 1ot 1 Gl 8" | 3Nfecy o1 I dsah! T 1 Taief 32
Options :

1. % Sito

2. % Yg

3. % T

4. ¢ HERT T

Question Number : 22 Question Id : 7532296899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If ‘A $ B’ means A is the father of B, ‘A # B> means A is the mother of B, and ‘A % B’ means A is the sister of B, then how is O related to R in
O#P$SQ%R?

Options :

1. # Grand daughter
2. % Mother

3. ¥ Grandmother
4. % Data inadequate

Question Number : 22 Question Id : 7532296899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEASB HTAHS G A, BHIUAE; A#B BIIG A BB S 'A%B BTHIG; A BB TGI8, NO#PSQ%URHIOBIRIF
ey 82

Options :

1. % gidiATfaa

2. % |

3. ¢ QI

4. % 3ipe U g

Question Number : 23 Question Id : 7532296900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Rabbit : Leap :: Owl : ?
Options :

1. ¥ Flit

2. % Fly

3. % Sturt

4. ¥ Swoop



Question Number : 23 Question Id : 7532296900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faded o1 70 BT, ot TR Ue ¥ 98] Iae 7, S gOR Ug &1 Uga UG I g |
W:W::W:?

Options :

1. ¢ HSIAT

2. % J&dl

3. % W

4, % GUST HRAT

Question Number : 24 Question Id : 7532296901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Alert : Inattentive :: Carefree : ?
Options :

1. # Casual

2. ¥ Worried

3. ® Unconfident

4. ¥ Depressed

Question Number : 24 Question Id : 7532296901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faded o1 70 BT, ForasT TR U ¥ J8] 96 §, S gOR Ug &1 Uga UG I g |
ﬂ%ﬁ:@@ﬁ::ﬁf\%ﬁ:?

Options :
1. % 3HIIYTH




2. ¢ Tifad
3. % TR-3TARIYRR
4. % dfd

Question Number : 25 Question Id : 7532296902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Papaya

2. # Jackfruit

3. % Watermelon

4. % Litchi

Question Number : 25 Question Id : 7532296902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Ve T MU 7, BFH | fiF et e & T § STR Ueb SRITTd 3| ST ol T ]|
Options :

1. % gdiar

2. % dcgd

3. ¢ AT

4. % Qi

Question Number : 26 Question Id : 7532296903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

7,12,19,?,39
Options :
1. % 25



2. % 30
3. % 26
4. % 28

Question Number : 26 Question Id : 7532296903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I W &1 994 Hv, S FgfeiRaa Tem 9ot & uy fag (2) & M R 81 gadl 8|

7,12,19, 7,39
Options :

1. % 25

2. % 30

3. % 26

4,9 28

Question Number : 27 Question Id : 7532296904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

10, 14, 23, 39, ?
Options :

1. ¥ 64

2. % 56

3. % 62

4. % 66

Question Number : 27 Question Id : 7532296904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I WE &1 994 Hv, S FgfeRaa Tem 9ot 7§ uy fag (2) & M R 81 gl 8|



10, 14, 23,39, ?
Options :

1. ¥ 64

2. % 56

3. % 62

4. % 66

Question Number : 28 Question Id : 7532296905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If =’ 1s interchanged with ‘+’ and ‘X’ is interchanged with ‘—’, then which of the following expressions is correct?
Options :

. % 9x48+8—-7+11=40

2.9 9+48+8—-7x11=40

3.% 9+48x8 -7+ 11=40

4. % 9-48+8+7x11=40

Question Number : 28 Question Id : 7532296905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e+ Pl '+ Y I& T 9Tl & SR < Bl - ¥ 9&d 11 ol &, T FfaRad & 9 319 91 ol g 67
Options :

1. % 9x48+8-7+11=40

2.9 9+-48+8-7x11=40

3.% 9+48x8-7+11=40

4, % 9-48+8+7x11=40

Question Number : 29 Question Id : 7532296906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 _»

If “+~’ means ‘subtraction’, means ‘multiplication’, ‘X’ means ‘addition’ and ‘+’means ‘division’, then find the value of



12+6x8—9=+16.
Options :
1. % 74
2. %70
3. % 62
4. 58

Question Number : 29 Question Id : 7532296906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe '+ 1 3f U B, - 1 F N B, x 7 31 SiieT R, 3R+ b7 3nef ymr B, Y FrufeRad wisie b1 91 w1 Sifvu

12+6%x8-9+16
Options :
1. % 74
2. %70
3. % 62
4, ¥ 58

Question Number : 30 Question Id : 7532296907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s _»

If ‘X’ means ‘subtraction’, means ‘division’, ‘=’ means ‘addition’ and ‘+’ means ‘multiplication’, then find the value of

10+ 11 x 18+ 16 — 4.
Options :

1. % 88

2. % 92

3. ¥ 96

4. % 98

Question Number : 30 Question Id : 7532296907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g '« BT 3 geT T g, - BT 31 URT B, '+ T 31 TS ], 3R '+ 1 372 7[un g, af Fafarfad sdeies &1 7 31d S|

10+11x18+16-4
Options :

1. % 88

2. % 092

3.9 96

4. % 98

Question Number : 31 Question Id : 7532296908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 32 students, Bhairavi’s rank is 26th from the top. What is her rank from the bottom?
Options :

1. # 5th

2. % 6th

3. ¥ 7th

4. % 8th

Question Number : 31 Question Id : 7532296908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 TNl &1 U e § WRal 1 RIM SW F 2691 &, 71 T TRAT BT RIH 1 52
Options :

1. % 59

2. % 64l

3. ¢ 7ql

4. % gqi

Question Number : 32 Question Id : 7532296909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option figure that can replace the question mark (?) in the given figure to complete the pattern.

Options :

2. ¢




Question Number : 32 Question Id : 7532296909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faeed &1 707 o3 ol &1 713 NGfa 3 Uy g (2) B Hfefiid o3 o & SR Uee ol TR &R gl g |

Options :

2.¢




Question Number : 33 Question Id : 7532296910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure will replace the question mark (?) in the following figure series?

L = [ ~7 7 &=

NN TN DN N ?
A ) A% Ll sl
Options :

7
V




Z_
N
- l
-
N
3 -
—
N
L% L/

Question Number : 33 Question Id : 7532296910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeiad sfiepia gae § oIF-U 2l Usards g (2) &I uiaiiud S

2 | =7 | =2 | &

Ry | R | o | ™ | oy | 2
Nt % d 1PN L ]
Options :




ya
V
-
Z_
N
-~ -
Z,
N
3. % bt/
- s
N
L% L/

Question Number : 34 Question Id : 7532296911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to figure C in the same way as figure B is related to figure A.

O U0

A B C D

o

Options :

[}
1. %

|
2. %

Y |
3. %

U |
4. <




Question Number : 34 Question Id : 7532296911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fadheq &1 9g9 3 ol APl ¢ I I UHR Yaldd g o/ UBR (B, H1Hid A Y Yadd 5|

O U0

A B C D

"

Options :

[}
1. %

|
2. %

Y |
3. %




U |

Question Number : 35 Question Id : 7532296912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

r a3
D

A B C D
Options :
4.
| % :_
TN
DI
2‘ \j L



NG
D.

3. % 2
T

Ol

4. % L

Question Number : 35 Question Id : 7532296912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fadheq &1 9g9 3 ol APl ¢ I I UHR Yaldd g o/ UBR (B, H1Hid A Y Yadd 5|

é. . /.I-I- 'i7
l vl d ?
/\ —|0)
A B C D
Options :

Zn
O




o™

DI

2. -
.\.rl-

Dl

3. % S
‘\ri

UI

4. % -

Question Number : 36 Question Id : 7532296913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :

2. %



3. ¢

Question Number : 36 Question Id : 7532296913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfeRed IR siefaal 8 9 7F Ul U iR die O 99 ¢ 9fR U@ a9 ¢ 1 370 I f9v &1 909 o3|

Options :

3. ¢



S,

Question Number : 37 Question Id : 7532296914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :




d

Question Number : 37 Question Id : 7532296914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed IR sgfoal § O 7 fedl Te Mia diie O 99 ¢ ofR U6 [ §1 379 I a9 &1 997 &2

Options :




"v
2. % B
7
3. % 4

Question Number : 38 Question Id : 7532296915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.

Options :



D &
O 0

G O
3 2 b

o
a L

>
H$ O

¥

Question Number : 38 Question Id : 7532296915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad IR srefaal § 9 3F iUl U iR @ie § 99 & ok Us favd ¢1 374 © faws &1 3049 o3|

Options :




D> &
C O

G O
3 2 b

o
a L

>
H$ O

¥

Question Number : 39 Question Id : 7532296916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

| 5
GENERATOR

Q

Options :
% IOTATAVID

, v AOTAATVED
, « GEMKEVLOK

s« CEMEEV1IOEK

Question Number : 39 Question Id : 7532296916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGU TTU Yo & 9e! gUu Yidfdd &1 994 &< ofd Ul &l [&aN 7T 39R PQ WR W T 8 |

P
GENERATDR'

Q

Options :
AOTAHIAMHD

1. %

v AOTAAIVHD



; x CEMKEV 10K

4+« CEMEEVLOE

Question Number : 40 Question Id : 7532296917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a sheet of paper and the manner in which the folded paper has been cut is shown below. What
will the unfolded sheet look like?

| ;fr (¢ v
e
I l fa?
_____ ‘E‘ SR ] F-=--
| | I i
. | i |
e e bnssissned
Options :
O 0
v <
b 4
L% (o]
v <
O O
O O
5 % b 4



v 0o00g
4 b
9V

5004

3. ¢

v 0 0Y¢
o vJg o
O b 4o
Lo 0 4

Question Number : 40 Question Id : 7532296917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTGl &b U ¢h o Dl AIS &1 o AR 59 TP I g U BNTS &I H1el 741 €, 98 1414 &l FufaRad siefaar
¥ G 41 ¢ | Wie R g8 BITS oyl aarg i

; N
i : b
----- T [Rp—— 1 Jr._-_-
| ] I |
I | I |
b omeomrmtm o R
Options :
O 0O
v <
b 4
L% © 0




v <

@] O

O O
, % b 4

» OOy

4 b
qgVv

3 @ b ood

v 009

o vPJdo

O p4q o
L % b oo 4
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Question Number : 41 Question Id : 7532296918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ministries deals with National Mission for Clean Ganga (NMCG)?
Options :

1. ¥ Ministry of Jal Shakti

2. % Ministry of Environment

3. # Ministry of Natural Resources

4. ® Ministry of Science and Technology

Question Number : 41 Question Id : 7532296918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T T S (T.eH o) Fafdfed # 9 feg Hared & gr dererd 82
Options :

1. ¢ S[eRIfad HATEY

2. % YgIaRul HATTd

3. % Ul G- HATed

4. % o3 U9 e Harea




Question Number : 42 Question Id
Orientation : Vertical

: 7532296919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
In which of the following years the Midday Meal Scheme was launched?

Options :
1. % 1994
2. %1995
3. % 1996
4. % 1997

Question Number : 42 Question Id
Orientation : Vertical

: 7532296919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

qeTg v Ao, FafaRad & 3 forg av uRy &1 7152

Options :
1. % 1994
2. % 1995
3. % 1996
4. % 1997

Question Number : 43 Question Id
Orientation : Vertical

: 7532296920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is having lowest frequency?

Options :

1. # X Rays

2. # Ultraviolet Rays
3. % Infrared Rays
4. % Gamma Rays

Question Number : 43 Question Id

: 7532296920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiaa o 9 foraet smaft =gay gt 82
Options :

1. % Tag-feul

2. % TRISTHY fHof

3. ¢ 3[R fHUl

4. % 77797 fH0f

Question Number : 44 Question Id : 7532296921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following protocols is used to virtually access a computer and to provide a two-way, collaborative and text-based communication
channel between two machines?

Options :

1. # Gopher
2. ¥ Telnet
3. % IP

4. % TCP

Question Number : 44 Question Id : 7532296921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR BT MU FT Y R H 3R & A=Al & T IRWI, TgaNTe® 3R UIdd TG TR Yollel Suds dH & g
ﬁaﬁr@aﬁ@rmmmwmw%?

Options :

1. # Th'q?_{((}opher)
2. ¢/ ¢AC

3. % 3l

4. % A,



Question Number : 45 Question Id : 7532296922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following persons has served as a Union Minister of Minority Affairs in India?
Options :

1. # Ghulam Nabi Azad

2. ¥ Mukhtar Abbas Naqvi

3. # George Fernandes

4. % Asaduddin Owaisi

Question Number : 45 Question Id : 7532296922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafed & @ ®F YR & euiRegs &1 BT & Hotd Tl IR /2
Options :

1. % T[T Tl 3TeTE

2. ¢ &R 3feq Tehal

3. % Siol BTSN

4. % 3RgEN St

Question Number : 46 Question Id : 7532296923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Census of India 2011, rural population constitutes approximately percent of the total population of India.
Options :

1. % 78%

2. % 69%

3. % 55%

4, % 86%

Question Number : 46 Question Id : 7532296923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

URd DI SIUMT 2011 & TR, URA D1 Hdl STRRAT BT T gfererd arfior SR ] |
Options :

1. % 78%

2. ¥ 69%

3. % 55%

4. % 86%

Question Number : 47 Question Id : 7532296924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In August 2021, the chief minister of announced that the state would continue to sponsor the Indian men’s and women’s hockey teams for
another 10 years.

Options :

1. ¥ Odisha

2. # Chhattisgarh
3. % Goa

4. ® Delhi

Question Number : 47 Question Id : 7532296924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2021 H, & T T 7 TN 1 {3 I7eu gRT tfafad 10 I & N YR TRV 3R Afga gie! A o wrifora far
ST

Options :

1. ¢ 3fifg=m

2. ® BTG

3. % a1

4. % foedl

Question Number : 48 Question Id : 7532296925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which of the following countries the headquarter of FIFA or the Federation Internationale de Football Association is located?
Options :

1. ¥ Switzerland

2. % Germany

3. # England

4. % France

Question Number : 48 Question Id : 7532296925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂth‘r (U0, 315U, W) IT SIRRPI Pslel HERiT (e SR S Bedld THRTRH) &1 Juured Fafeiad # 3 fod our d fRd
?

Options :

1. ¢ facoRds
2. % S

3. % $cfs

4. % g

Question Number : 49 Question Id : 7532296926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the father of Bindusara Maurya?
Options :

1. # Asoka

2. % Chandragupta

3. % Dasharatha

4. % Mahinda

Question Number : 49 Question Id : 7532296926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



figuR A1 & fUar = A9
Options :

1. % 30

2. ¢ I

3. % GRRY

4. % Tgg

Question Number : 50 Question Id : 7532296927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Lodi dynasty was of origin.
Options :

1. #* Iranian

2. # Iraqi

3. ¥ Afghan

4. % Mongolian

Question Number : 50 Question Id : 7532296927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MR Hd BT YT

Options :

1. % M
2. % RH
3. % AW
4. % TN

Question Number : 51 Question Id : 7532296928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the founder of ‘Anandwan’, an ashram dedicated to the treatment, rehabilitation, and empowerment of leprosy patients?



Options :

1. # Mahatma Gandhi

2. ¥ Baba Amte

3. # Sundar Lal Bahuguna
4. # Aurobindo

Question Number : 51 Question Id : 7532296928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FT AN & IUAR, TAAN, 3R TRIGIHRT & To1T RAUT MY “SMHEaT BT GRS B UT?
Options :

1. ® QT el

2. ¥ SIS 31

3. % Yexdrd Sgion

4. % 3RfSQ

Question Number : 52 Question Id : 7532296929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Indian states share the border with Bangladesh?
Options :

1. %2

2.%3

3.% 4

4.5

Question Number : 52 Question Id : 7532296929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & o I U=t T ST & J1 T30 HRd 82

Options :




1. % 2
2.%3
3. % 4
4.5

Question Number : 53 Question Id : 7532296930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Child Marriage Restraint Act enacted in India?
Options :

1. % 1929

2. %1930

3. % 1942

4. % 1949

Question Number : 53 Question Id : 7532296930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H 1t fdarg ufavy g se siffafid faarn mar um
Options :

1. ¥ 1929

2. %1930

3. % 1942

4. % 1949

Question Number : 54 Question Id : 7532296931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the mascot of the Asian Games hosted by India in 19827
Options :

1. ¥ Appu

2. % Pan-Pan



3. #* Poppo and Cuccu
4. % Duria

Question Number : 54 Question Id : 7532296931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1982 H HRA GRT STIfoTd TRMETS Qdl & THBR BT A1 FT 412
Options :

1. & 30

2. % U0 (Pan-Pan)

3. % Oy iR PP (Poppo and Cuccu)

4. % i

Question Number : 55 Question Id : 7532296932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a classical dance form from the state of Andhra Pradesh?
Options :

1. ¥ Bharatanatyam

2. # Kathakali

3. % Kuchipudi

4. # Kathak

Question Number : 55 Question Id : 7532296932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofaRea o  @F  sisr v o) I T A 72
Options :

1. % ARG

2. ® HYbal

3. ¥ FAiget



4. % HYDh

Question Number : 56 Question Id : 7532296933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for Ka Shad Suk Mynsiem tribal dance?
Options :

1. % Karnataka

2. ¥ Meghalaya

3. % Chhattisgarh

4. % Goa

Question Number : 56 Question Id : 7532296933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WWWW (Ka Shad Suk Mynsiem) Eﬁwﬁg%@aﬁ@rmwﬁﬂm%?
Options :

1. ® Hlcd

2. ¢ WY

3. % BUNG

4. % Tl

Question Number : 57 Question Id : 7532296934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Gregorian month/s does the world-famous Lord Jagannath Rath Yatra take place at Puri in Odisha?
Options :

1. # October or November

2. % June or July

3. # August or September

4. % January or February



Question Number : 57 Question Id : 7532296934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g}, ISt H fay UG WTaT SRTHTY XY g fod IR Tgi/Al | SIaiford &1 ot 82
Options :

1. % 3ICER YT AdaR

Question Number : 58 Question Id : 7532296935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Hindu festivals marks the beginning of a new year for Marathi and Konkani Hindus?
Options :

1. # Raja

2. ® Teej

3. ¥ Gudi Padwa

4. % Thrissur Pooram

Question Number : 58 Question Id : 7532296935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRIST 3R Pl fEgant & foe Tar af Fafifad o 9 oy fig deR & Iy SRy garg?
Options :

1. % X9

2. % i

3. g Ugdl

4. % R QRE



Question Number : 59 Question Id : 7532296936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is a famous Bandanawazi Qawwal?
Options :

1. # Roshan Ara Begum

2. # Sukhawat Ali Khan

3. % Ateeq Hussain Khan

4. % Noor Jehan

Question Number : 59 Question Id : 7532296936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead # ¥ o e URig seHaTs Haard 82
Options :

1. % A RTTH

2. % @A el W

3. ¢ 3l g WM

4. ® el

Question Number : 60 Question Id : 7532296937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who sang the famous song “Jab Dil Hi Toot Gaya” in the Hindi movie ‘Shahjehan’ that released in 19467
Options :

1. ¥ Kundan Lal Saigal

2. % Rehman

3. ¥ Anwari Begum

4. ¥ Nazir Bedi

Question Number : 60 Question Id : 7532296937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1946 H el et fohed =mesTel &1 Uikt TMd «od foa g1 ge Tar farads gRT 711 T g2
Options :

1. ¢ P AT Jgird]

2. % YgHH
3. % 3R] SH
4. % TR &
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532296938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was high denomination notes (Rs. 1,000, 5,000, and 10,000) were reintroduced in India?
Options :

1. ¥ 1954

2. % 1956

3. % 1958

4. % 1960

Question Number : 61 Question Id : 7532296938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I geuad & A1el (3. 1,000, 5,000, 3R 10,000) B HRA & Hd O § w7 fovar mar 41
Options :

1. ¥ 1954

2. % 1956

3. % 1958

4. % 1960

Question Number : 62 Question Id : 7532296939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IL&FS is an acronym for the non-banking financial company (NBFC) .
Options :

1. # Indian Leasing & Financial Services Ltd.

2. # Infrastructure Licensing & Financial Services Ltd.

3. % Indian Licensing & Financial Services Ltd.

4. ¥ Infrastructure Leasing & Financial Services Ltd.



Question Number : 62 Question Id : 7532296939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IL&FS (37139, U8 Uh.u9.) TR-&fd foxita W6 (NBFC) . S Ifég A g

Options :

1. ® Indian Leasing & Financial Services Ltd. (3[ST TITONT TS BI3A R Ha4 [oHcs)

2. # Infrastructure Licensing & Financial Services Ltd. W Fﬂg@ﬁm Us W@W LIRS m
3. # Indian Licensing & Financial Services Ltd. (‘é’ﬁcm:r ?ﬂs@ﬁm s l—bl'i:fl?ilqﬂ fd e ﬁ'lﬁl%_é)

4. ¢ Infrastructure Leasing & Financial Services Ltd. (SPPTRCHRR AT U wrARma afds T%f&l%@')

Question Number : 63 Question Id : 7532296940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organizations developed the Human Development Index (HDI) to measure levels of social and economic development of
different countries?

Options :

1. # World Trade Organization
2. ¥ United Nations

3. # International Monetary Fund
4. % World Bank

Question Number : 63 Question Id : 7532296940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@W%Wﬁ%ﬁwwwmﬁ%mﬁmﬁﬁﬁmmm%rJ-lHq fApM Yadis (T9.31.3(15.) B fasid
?

Options :

1. % {9y UR 13
2. ¢ Y Y

3. % STRIPTT a1 Iy
4. % fayd&




Question Number : 64 Question Id : 7532296941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among them was the Minister in charge of disinvestment in the NDA government at the Centre?
Options :

1. # Ajit Singh

2. % Arun Shourie

3. ¥ Yashwant Sinha

4. % 1K Gujral

Question Number : 64 Question Id : 7532296941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U181 T RHR & 999 H1g fafaz pur = Fufafea d o Q2
Options :

1. % 3foiid Rig

2. ¢ JBUT YR

3. % gRAd Rigl

4. % 38, . TORIA

Question Number : 65 Question Id : 7532296942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a part of India's renewed focus on manufacturing, the 'Make in India' initiative was launched globally in the year
Options :

1. #® 2013

2.¥2014

3. #2015

4. % 2016

Question Number : 65 Question Id : 7532296942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JdTe TR YR gRT TdHI$pd U ¥ & digd fhT oH & 91y, A 37 31SaT Ugd $I dfd 39 9 a8 H URY foar mam|
Options :

1. % 2013

2.% 2014

3. % 2015

4. % 2016

Question Number : 66 Question Id : 7532296943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for the largest Salt Lake in the India?
Options :

1. % Gujarat

2. % Uttar Pradesh

3. ¥ Madhya Pradesh

4. ¥ Rajasthan

Question Number : 66 Question Id : 7532296943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA # @R UM &1 gad s91 g Fafeiad 7 3 fovw e 1 fRyd g2
Options :

1. ® JSRId

2. % JW UK

3. % AL UG

N G USEIE

Question Number : 67 Question Id : 7532296944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the largest plateau in the world?



Options :

1. # Colorado Plateau
2. ¥ Tibetan Plateau
3. # Deccan Plateau
4. % Ladakh plateau

Question Number : 67 Question Id : 7532296944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3%y &1 g JS1 UoR Fuffad ¥ A w1 e
Options :

1. % HIARSI BT USR

2. ¢ fds9d BT USR

3. ®# qdhJ HIUSR

4, % IR PTUSR

Question Number : 68 Question Id : 7532296945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the government data, which of the following states was the first state that achieved a hundred percent literacy?
Options :

1. % Karnataka

2. % Tamil Nadu

3. ¥ Kerala

4. % Goa

Question Number : 68 Question Id : 7532296945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI B S| B TR, Id-UI=IT TeRdT &R UTE H- ardl Ygall Iod FHgfafad # 9 & U
Options :




1. % HAlcH
2. % qerg
3. ¢ IR
4. % Tar

Question Number : 69 Question Id : 7532296946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Ministry of Statistics & Programme Implementation, which of the following states in India is having minimum per capita income?
Options :

1. # Jharkhand

2. % Qdisha

3. # Chhattisgarh

4. ¢ Bihar

Question Number : 69 Question Id : 7532296946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRt Ud S fharag Haad & SR, YRd & Hafeied 7 ¥ fow e § ufa afdd sma —gaad 82
Options :

]. % IRTS

2. % 3fifsEm

3. % BIANG

4. ¢ fo8R

Question Number : 70 Question Id : 7532296947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tarapur Nuclear Reactor is located in which of the following states?
Options :

1. # Rajasthan



2. % Maharashtra
3. ®* Tamil Nadu
4. % (Qdisha

Question Number : 70 Question Id : 7532296947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARTGR TRTATY] o Fafead @ fra Tsa o fua 82
Options :

1. # SR

2. ¢ HERIY
3. % qiAeg
4. % 3NfSEm

Question Number : 71 Question Id : 7532296948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Our solar system is a small part of which of the following Galaxies?
Options :

1. % Andromeda Galaxy

2. % Sombrero Galaxy

3. # Triangulum Galaxy

4. ¥ Milky Way

Question Number : 71 Question Id : 7532296948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI IR Hed FufeiRad # 9 fy M1 (IdR) &1 TH BIeT HRT 82

Options :
1. % UGS HTHIRAT

2. % IFSRI BTN




3. % TIUTAH SThIRA
4. ¢ Ueptd

Question Number : 72 Question Id : 7532296949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of a membrane-bound cell organelle that contains digestive enzymes?
Options :

1. # Nucleolus

2. # Cytoplasmic organelles

3. % Ribosome

4. ¥ Lysosome

Question Number : 72 Question Id : 7532296949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI H fareett A FoR v sraua o U TSiTeH UT fTd 52
Options :

1. % bgd

2. % PIRAPBIEH DITAB

3. % EEEH

4. % AP

Question Number : 73 Question Id : 7532296950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who determined the double-helix structure of DNA?
Options :

1. # Marie and Pierre Curie

2. ¥ Antoine and Marie-Anne Lavoisier

3. % Gerty Theresa and Carl Ferdinand



4. % James Watson and Francis Crick

Question Number : 73 Question Id : 7532296950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SN 3! fg-Feford WRa &1 uRv faam foan
Options :

1. % I SR R gt

2. % YT SR BR-TT TraiforeR

3. % T T 3R FTd WicATG

4. ¢ SR I1eTd 3R Wik Bl

Question Number : 74 Question Id : 7532296951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a negatively charged particle in an atom?
Options :

1. ¥ Electron

2. # Proton

3. % Neutron

4. % Positron

Question Number : 74 Question Id : 7532296951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATY # Fafifad & T &1 91, Th BUMARIT 3] (particle) BT 82
Options :

1. ¢ FagH

2. % g

3. % M

4. % GifTcH

S



Question Number : 75 Question Id
Orientation : Vertical

: 7532296952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
What is “c” in E = mc2 equation in Einstein's theory of special relativity?

Options :

1. % Weight of the Substance
2. % Speed of Light

3. ® Molecular Weight

4. #% Atomic Weight

Question Number : 75 Question Id
Orientation : Vertical

: 7532296952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

3MEeTs & fARY smifdremdr Rigid & TH®H0 E = me2 H «c” 1 82

Options :

1. % ggrd &1 4R
2. ¢ UHI Pl ITd
3. % 3IUM[ddH UR
4. % TRATUGD HUR

Question Number : 76 Question Id
Orientation : Vertical

: 7532296953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Fundamental Duties were incorporated in the Indian Constitution by the amendment.

Options :

1. ¥ 42nd amendment
2. # 43rd amendment
3. # 44th amendment
4. #* 45th amendment

Question Number : 76 Question Id

: 7532296953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR Tfge= & TN gRT A Saodt o qidferd fasar man|
Options :
1. ¢ 420
2. % 439
3. % 449
4. % 459

Question Number : 77 Question Id : 7532296954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is having maximum members of legislative assembly?
Options :

1. ¥ Utter Pradesh

2. # Rajasthan

3. % Bihar

4. ¥ Madhya Pradesh

Question Number : 77 Question Id : 7532296954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefaa & 3 g Isg A/ faum 941 & exl & T gaifde g2
Options :

1. ¥ WU

2. % ST

3. % f9gR

4. % QLY

Question Number : 78 Question Id : 7532296955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following has never held a position of The Solicitor General of India?
Options :

1. # Rohinton Nariman

2. % Ranjit Kumar

3. % Tushar Mehta

4. ¥ Ram Jethmalani

Question Number : 78 Question Id : 7532296955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 &, YRd & AfIRicy SR & Ug W HH 781 361 82
Options :

1. % Afged e

2. % ISd $AR

3. % QUR Ogdl

4. ¥ A SSHAMT

Question Number : 79 Question Id : 7532296956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of non-renewable source of energy?
Options :

1. # Ethanol

2. % Geothermal

3. # Hydropower

4. ¥ Nuclear

Question Number : 79 Question Id : 7532296956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 A Y HH-T1 Sl & 1B Yid BT T UHR 82



Options :

1. % QYIS

2. % YU
3. % RESIUIR
4. ¢ AHD

Question Number : 80 Question Id : 7532296957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In how many States/UTs of India was the Legislative Assembly General elections conducted in March-April 20217

Options :
1. % Two
2. # Three
3. % Four
4. ¥ Five

Question Number : 80 Question Id : 7532296957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A3 2021 T HRA & foba- o1/ 2RId TSR H e 94T & 319 gA1d gU 92
Options :

1. %3

2. % dfiF

3. % IR

4. ¥ U™
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Question Number : 81 Question Id : 7532296958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of 54 = 10 - (Exl)af?+ﬁxi—(%+i_) is:
3 4 5 3 10 5 25

Options :

|.¢ 3.9

) # 4.1

3 % 1.8



Question Number : 81 Question Id : 7532296958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
54+ 10 - (Exi)af?+§><i— (3+i)

3 10 3 23

&I HF J1d HiforU|

Options :
1.¢ 3.9

) # 4.1
3 % 1.8
4. 8% 2.9

Question Number : 82 Question Id : 7532296959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'12.9%6 ;
If = = ﬁ . then the value of g is:
- v 0.05 3
Options :
1. % 0.9
2.¢ 03



4 % 04

Question Number : 82 Question Id : 7532296959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

—_—

trii‘"'li'% o o 1B %‘.?ﬁ;—" 1 HF J1d HIfT|

v 0.050625

Options :
1. % 0.9

2.« 0.3
3 % 0.1

4 % 04

Question Number : 83 Question Id : 7532296960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1.47 14.7

If = =2 then the value of = is
0,147 x 10

Options :
1 ® 0.0147

5 % 1.47
3« 0.147

4 % 147



Question Number : 83 Question Id : 7532296960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| | -l = %.?ﬁi 1 {1 F1d HIfTT|

0.147

Options :
1% 0.0147

5 % 1.47
3 @ 0.147

4 % 147

Question Number : 84 Question Id : 7532296961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 29 .
If L ot where X, y and z are natural numbers, then the value of (x+4y-z) is
X+
v
3

Options :

1 ® 2

, #® -1



Question Number : 84 Question Id : 7532296961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e —— =2 % TRl x, y AR 2 MHd SO R, T (x+ 4y — ) PTHF 1 SO

2

243
Options :

1 ® 2

2. % -1

4.¢ 1

Question Number : 85 Question Id : 7532296962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of two numbers is 306 and their HCF is 18. If second number is greater than the first, then how many pairs of

such numbers can be formed?
Options :

1.« 8



Question Number : 85 Question Id : 7532296962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l A1 BT N 306 & SR 39D HewH YHYGdS (HCF) 18 € | 3¢ g1 T, Ugdl e 4 951 8, dl Ul
et o fohe g 81 Uahd 62

Options :

1.¢ 8

Question Number : 86 Question Id : 7532296963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The smallest number, which is divisible by 10,7, 28 and is a perfect square, is:
Options :

1. ® 3600

7« 4900

3 % 1600

4 % 6400

Question Number : 86 Question Id : 7532296963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

dg BICI Y BIC! YA 1 DI, S 10, 7, 28 Y fAHST B 3R e QUi 1 g |

Options :
1. ® 3600

5« 4900
3 % 1600

4 % 6400

Question Number : 87 Question Id : 7532296964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9+2ys 9-245
The value of e — S:
2+vs  2—4/s

Options :
1 ® 1145

A RAL
3.v 10V5

N

Question Number : 87 Question Id : 7532296964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2+2V5 _ 9-2V3 o {1 it i

2+4/5 2—5

Options :
1 ® 1145

A RAL
3.v 10V5

L w8V

Question Number : 88 Question Id : 7532296965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Y = Z £ 0, then what will be the highest value of X in the given equation:

SX1 +6Y8 +3Z3=1492
Options :
L% 7

w
b
Lo |

Question Number : 88 Question Id : 7532296965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfe vy =2z+0 g, d feu 0 gHieo § X &1 I=d9 59 1 gRT
X1 +6YR+373=1492
Options :

1‘2'.3'?

Question Number : 89 Question Id : 7532296966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of

Lo d Lol doed o Bl 2o Ty 1 -
3;f420f53+8.20f4 4( : x) of 2 is:
Options :

-7

1. 60

4. % 60



Question Number : 89 Question Id : 7532296966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
32-4lof5i4lo2op 22225 Y)2op o HTHM A BITN
2 3 8 N - R 1 2
Options :
-7

1. 60

4. % 60

Question Number : 90 Question Id : 7532296967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of

2 X 2 = i_ E i 1o
GCof2:x17)+(3-+4;0f5)) is:

Options :
22



3.¢ 20

4 ® —20

Question Number : 90 Question Id : 7532296967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gof2:x19)+(3I+450f57) &1 A I1d HIfoT |

Options :
22

1. # 3

3 « 20

Question Number : 91 Question Id : 7532296968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20% of 17% of 50% of 85% of x is 289. What is the value of 11% of x?
Options :

1.« 2200

» % 20000

3 % 2000



4 % 40000

Question Number : 91 Question Id : 7532296968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x & 85% P 50% P 17% BT 20%, 289 b SAT g | x B 11% BT A J1d B0
Options :
| @ 2200

5 % 20000
3 % 2000

4 % 40000

Question Number : 92 Question Id : 7532296969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of an article is 21000. After allowing a discount of 25% on the marked price, there was a loss of Z50.

The loss percent is:



4 % 427

Question Number : 92 Question Id : 7532296969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U %] 1 3ifdd Ged 21000 81 3D Hfdhd Jod W 25% DI BE &1 & §1&, 250 BI gl Bidl ¢ | Hfc=rd g I1d
DI

Question Number : 93 Question Id : 7532296970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Grandfather of A and B divided an amount of 324600 between them in the ratio 20 : 21. They both donated 1000 each

for charity out of their shares. What will be the new ratio of B’s amount to A’s amount?

Options :
1. % 51:359
» #® 353:55

W
LN
[w.a]
Ln
_h



N
¥
Ln
&
Ln
_h

Question Number : 93 Question Id : 7532296970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B & GIES 224600 B YRR I F+Tdb 8 20 : 21 & AT H [GHIST foham | SHl H © Weldeh = 20
8 T 21000 T & f&aT| B B Y=RIR 3R A DI 4RI I 41 {TUId T BRI

Options :
1. % 51:5

9%} \9)
4 #
LN N
[w.a] [ ]
LN Ln Ln
_h _h WO

N
#
N
4
LN
_h

Question Number : 94 Question Id : 7532296971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One year ago. the ratio of the ages of A and B was 4 : 3. The ratio of their ages, 3 years from now, will be 6 ; 5. What

will be the ratio of the ages of A and B after 5 years from now?
Options :
1.8 4:

L

hed
®
b
th



4. & 7:6

Question Number : 94 Question Id : 7532296971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush 99 U, A 3R B b1 31 BT U 4 : 3 1| 3 Y 3 G §IS, 3! Y I IUId 6 : 5 BT I T H 5 98
916, A HR B B TG 61 SFUTT 1 BRI

Options :

1. % 4:5

4. & 7:6

Question Number : 95 Question Id : 7532296972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling a car for 22.08,000, P makes a profit of 30%. If he sold the car at 2.20,800, then what will be the new profit
percentage”?

Options :

1. 38



4 % 40

Question Number : 95 Question Id : 7532296972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh HR Bl 22,08,000 H &I U, P Bl 30% B 1Y BIdl & | Tf¢ 98 BN Bl 22,20,800 H T 8, dl 741 U= A1H
1d FIfoT|

Options :
1.« 38

) ® 32
3 % 42
4 % 40

Question Number : 96 Question Id : 7532296973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling two articles for 3740, a person gains the cost price of two articles. The profit percent is:
Options :

| % 110

7« 100

3 % 120

4. % 80



Question Number : 96 Question Id : 7532296973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l GRg31 Bl 2740 H o9 UR, Uah Hldkd bl Gl S o shY Hed o sRISR AlH WG Bicll § | WITRId @+ 1 iforg |
Options :
| % 110

5 & 100
3 % 120

4 % 80

Question Number : 97 Question Id : 7532296974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling an article for ¥732, there will be a loss of 4%. If it is sold at 8%o profit, then the selling price (in %) is:
Options :

| % 837.50

> % 814.25

3« 823.50

=
-1
Lh

Question Number : 97 Question Id : 7532296974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
U % Bl 2732 H dT UR 49 B! BT BRI TS T 8% ATH TR §91 Ol 5, 1l fashd Jed (2 H) J1d BIfoiL|

Options :
1 ® 837.50

> % 814.25

3« 823.50

Question Number : 98 Question Id : 7532296975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person paid T12800 with interest for a loan which he took 5 years ago at 12% p.a. rate of simple interest. What was

the simple interest (in ¥) paid on this loan?
Options :

1 % 4400

> % 4000

3 % 5200

4« 4800

Question Number : 98 Question Id : 7532296975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U Hfdd - U BUI &l P & U TS Figd 212800 BT YA (a1, Ol 3G 5 T4 Ugd 129 Tt JIURU
TS i &Y WR o/ 1| $9 U1 WR gehIU ¢ JIYRU SATS (2 H) Bi AR 1 Biforu|

Options :

| % 4400

5 % 4000
3 % 5200

4« 4800

Question Number : 99 Question Id : 7532296976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum amounts to 13920 at 9% p.a. simple interest in 5 years. What will be the simple interest (in %) on the same sum
at 10% p.a. for 10 vears?
Options :
1.« 9600

» % 8000
3 % 10000

4 % 9200

Question Number : 99 Question Id : 7532296976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U Y-RI1T 9% AT ATYRU] S0 &1 X U 5 T8 H SgH2 213920 81 Wil g | ST LRI TR 109 At X I 10
ay BT IR &419 (2 H) J1d DI

Options :

|« 9600

5 % 8000
3 % 10000

4 % 9200

Question Number : 100 Question Id : 7532296977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate of simple interest for first two years is 6.5% p.a., for the next 3 years. it is 10% p.a. and for the period beyond 5
years, it is 12% p.a. If a person invests 25000, then what will be the amount (in Z) received after 9 years?
Options :
1. % 5500

4 % 10500

Question Number : 100 Question Id : 7532296977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g YIYRU SO H1 &2, Ugd &l a9 & (01U 6.5% dIidh, [T 3 TNf & [ T8 109 dlNd 3fR 5 T8 & §1G PI
Al & fTU 129, AINS o | Al P15 Alad 25000 BT FIR HIAT 8, O 39 0 TN U 81w (z #) foa=1 g

Options :
1. % 5500

5 & 9550
3 % 4550

4 % 10500
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Number of Questions to be attempted : 20
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Question Number : 101 Question Id : 7532296978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the compound interest on a sum of T 100000 compounded half yearly in 1; vears is ¥22504.30, then the annual rate
percent is:

Options :

1. % 7

) ®% O
3.« 14

4 % 12

Question Number : 101 Question Id : 7532296978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hﬁ%mmmﬁﬁﬁﬂﬁﬂ?@ﬁfﬂﬂﬂﬂ? HfaTfies Tehgfe SR TR UM A W 12 8 7 UK Tehafes AT

322504.30 g, <l Al o419l & iR &2 JTd Hifod |
Options :

1.5;.3'?

)y ® O



3« 14

4 % 12

Question Number : 102 Question Id : 7532296979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time in years for a sum that becomes 2.0736 times of itself at 20% p.a. rate of interest compounded annually is:
Options :

1.% 5

Question Number : 102 Question Id : 7532296979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dg 9HY J1d BT, TSrH iy UeRIRT 200 TN Tehgfeg SATS b1 & I ¥4 Bl 2.0736 T 81 9l 3, Slaifds STl
1 UM A1fSeh Tehgieg SR U Pl Sl g
Options :

1.% 3



3_335

4.« 4

Question Number : 103 Question Id : 7532296980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A can do a work in 20 days, while B can do the same work in 25 days. Both worked together for 10 days and then both

left the work. Thereafter C alone completed the remaining work in 10 days. In how many days can B and C working
together complete the same work?
Options :

1.« 20

) # 16
3 % 10

4 % 18

Question Number : 103 Question Id : 7532296980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT B BT 20 & H S Toball 8, Wdidh B 3 B Bl 25 & H R H Ghal g1 SHI A 10 &7 T Th
1y e B B, 3R R g1 - B 81 a1l $H% a1 ¢ - 3fdhd H1d &3d gU, AY B &l 10 T T T
faaTl B 3R ¢ U 1Y e I &1 &l b 16 H TR R Ahdl 52

Options :

1.¢ 20




) % 16
3 % 10

4 % 18

Question Number : 104 Question Id : 7532296981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P can do a piece of work in 30 days and Q can do the same work in 45 days. Working together, in how many days will
they complete 50% of the same work?

Options :

1. % 18

2.¢ 9
3. % 12

4 % 10

Question Number : 104 Question Id : 7532296981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P [l 1 &l 30 &7 1 R Uahdll © 3R Q 31 &1 @l 45 6§ HR Ul ¢ | U 1Y HIU $dl gL d I B &
509 g8 I fobe fg # G s ol

Options :

1. % 18




2.¢ 9
3 % 12

4. % 10

Question Number : 105 Question Id : 7532296982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person rows upstream 33 km in 3 hours and rows downstream 100 km in 4 hours. To row a distance of 72 km in still
water, how much time (in hours) will he take?

Options :

1. % 5

I

Question Number : 105 Question Id : 7532296982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh ST 1 GRT YRT &1 fAusia G2 o 3 8¢ o 33 km 3R 4RI G0 H 4 °9¢ H 100 km BT G 70 Rl 8| W
i H 72 km B G 09 B H 39 =1 90 (4 H) WA

Options :

1% 5



Question Number : 106 Question Id : 7532296983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P travels from her house at 3 i km/h and reaches her school 6 minutes late. On the next day, P travels at 451 km/h and
reaches her school 10 minutes early. What is the distance (in km) on both ways from her house to school and back?
Options :

1 % 4.8

) # 9.6
3 % 4.2

4.« 8.4

Question Number : 106 Question Id : 7532296983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 30 TR 3% kuvh I I F ki1 ¢ SR 310 Tdd HUTRT THT 6 fie &1 <3 I Tgal 81 3FTa fa . p. 42
knvh &1 916 U Tl & AR 30F Wod [uia 999 ¥ 10 e ugd Ugd ol 8 | 3% TR U Wd o R arad
ﬁ.ﬁ@ﬁﬁ@ﬁ{hﬂﬁ}ﬁﬂ:ﬁ%‘?

Options :
1% 4.8




4.« 8.4

Question Number : 107 Question Id : 7532296984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average score of 12 girls in a test is 16.5 and that of 8 boys in the same test is 16. The total score obtained by girls
and boys taken together is

Options :

1. % 333

5 & 326

Question Number : 107 Question Id : 7532296984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Qe H 12 Tsichdl & 3{d Ui 16.5 5. 3R 341 GIET H 8 TSdh! & 3{19d UIKid 16 8| asihal 3R
S Dl U 1Y AR 3 $Hal Ui JId DI |

Options :
1. ® 333




Question Number : 108 Question Id : 7532296985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of A, B and C is 59 kg.If the average weight of A and C be 55 kg and that of B and C be 36 kg, then
the weight (in kg.) of A is:
Options :

Question Number : 108 Question Id : 7532296985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C &7 3{19d 9o 50 kg €1 TS A HR ¢ BT 3{1Gd 99 55 ke & 94T B HR € BT 3G a0 56 ke &, dl A
&1 9o (kg H) JA HITOT|

Options :
1 ® 60



Question Number : 109 Question Id : 7532296986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of twenty-five numbers is 56. Average of the first 13 numbers is 54.8 and that of the last 13 numbers is
64.2. If 13th number is excluded, then what is the average of the remaining numbers? (correct to two decimal places)
Options :

1. % 54.18

, % 53.86

4 & 5221

Question Number : 109 Question Id : 7532296986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
25 G131 BT 31 56 €| TS 13 TENA] BT 31 54.8 g AR 3A{TH 13 G134 &7 19 64.2 81 AfG 1397 T
ol geT a1 WY, il Y YBATeT &1 AR J1d SIS0 | (I SRHTd RIFT b guiichd)

Options :
1 ® 54.18



Question Number : 110 Question Id : 7532296987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B enter into a partnership with capitals in the ratio 5 : 6. After 4 months, A withdraws 3 th of his capital while B

s )

increases his capital by 33 i%, What is the share (in Z Lakhs) of A in the annual profit of 8.4 Lakhs?

Options :
1.« 3.12

, % 2.86

3 % 3.96

Question Number : 110 Question Id : 7532296987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASRBA s : 6% U H UGl A b TP WILIGRI Bl | 4 HEH 16, A SO Uil P12 4RT a10 & Sl g,
STeifd B ST Ul H 332 00 1 G ST 81 25.4 TRA & a1ftfe Ty ¥ A 1 feetl = ey ) foberf &2

Options :



Question Number : 111 Question Id : 7532296988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of a fan is 21700 and 12% discount is allowed. What will be the selling price (in ) of the fan?
Options :

| % 1512
5 & 1496
3 % 1600

4 % 1534

Question Number : 111 Question Id : 7532296988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush Uxd & Sifdrd Hed 71700 § 3R 38 W 12% $I B ¢l oildll ¢ | U &1 fdehd Hed (2 H) I1d B

Options :

| % 1512



5 & 1496
3 % 1600

4 % 1534

Question Number : 112 Question Id : 7532296989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dealer marks his goods 40% above the cost price. He sells 60% of his goods by giving 10% discount on the marked
price and the rest by giving x% discount on the marked price. His overall profit is 3.6% in the whole transaction. The

value of x is:
Options :

Question Number : 112 Question Id : 7532296989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh faghdl 210 H1el U, T HeT ¥ 40% 31 Hed 2ifchd Bl €| I8 210 A1el B 60% HIT bl 2Hfchd Hed R
10% 1 BC ahR 99l g 3R Y HAT DI 3ffchd e R x% B BE Gbr S9dl ¢ | 39 I YadeR d IHHI Ha AT
3.6% | x I HIF JId DI

Options :




LN
o=

1. ¢
2. 40

3 & 60

Question Number : 113 Question Id : 7532296990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Length of one of the diagonals of a rhombus is 95% of that of the other. A square is drawn using the longer diagonal as
side. What will be the ratio of area of square to that of the rhombus?
Options :
1. % 40:21

) & 40:19

3 % 19:11

Question Number : 113 Question Id : 7532296990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U GHAGHY & U G0l &1 TiaTy, TER [Ah Ul & Telg & 959% o SRIER g | 7d fdehul ol Yol & U § UgNT
R U o Qi1 ol ¢ | 59 UhR [ ol &R THaquys & esrwdl &1 391 91d Sifor|

Options :




5 & 40:19

3 % 19:11

Question Number : 114 Question Id : 7532296991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A racing track of uniform width 5 meters runs outside a circular garden. The cost of levelling the track at Z14 per m? is

Z1,55.100. What is the perimeter (in meters) of the circular garden?

(Take m= ET—E )
Options :
1.« 2200

5 % 1400

Question Number : 114 Question Id : 7532296991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U JUIHR §1d & 36116 G918 &1 3R 5 m 6] ThGHM FIelg &1 Uh R ¢h gl 214 Uid m?2 IR Y P Dl
HUA B Bl ART 21,55,100 5 | GUIBR &1 I GRIY (Hiex o) fdari 82

m=%ﬁ}

Options :
1.« 2200

5 % 1400
3 % 2500

4 % 2100

Question Number : 115 Question Id : 7532296992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many bricks, each measuring 32 cm * 11.25 cm * 10 cm, will be needed to buildawall 8 m * 6 m = 11.25 m?
Options :

| % 120000

5 « 150000
3 % 180000

4 % 100000

Question Number : 115 Question Id : 7532296992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



8mx6mx ll.ZﬁmWﬁWWﬁﬂﬁ%%ﬁWﬂ cm % 11.25 em x 10 cmmﬂawﬂ%?ﬂiﬁﬁ
ATl gl

Options :

| % 120000

» & 150000
3 % 180000

4 % 100000

Question Number : 116 Question Id : 7532296993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the radius of a sphere is increased by 2.5 decimeter (dm), then its surface area increases by g dm? . What is the

volume (in dm?) of the original sphere?

(Take m= E]
7

Options :
715
1. # 21



Question Number : 116 Question Id : 7532296993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 e Tl 1 S H 2.5 SHIHIC (dm) $1 Ifs 1 Il &, T 506 1T &G H 22 am? D1 g el €1 7@
Tied BT TG (dm? %) F1d B

Fr e
(m=— =)

7
Options :

715

1. % 21

Question Number : 117 Question Id : 7532296994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metallic solid spherical ball of radius 3 cm is melted and recast into three spherical balls. The radii of two of these
balls are 2 cm and 1.5 cm. What is the radius (in cm) of the third ball?

Options :



4. % L.75

Question Number : 117 Question Id : 7532296994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 em TS ATE U 319 4T &1 TSR Tig Bl [IGaresR diF MABR el & Y 5 gral ol ¢ | 595 d &l el &l
U2 em 3R 1.5 cm B T‘ﬂﬂ_ﬁﬁaﬁaﬂ(cm ﬁ] FIREAISIY

Options :

25

1.¥ =

I

4 % 1.75

Question Number : 118 Question Id : 7532296995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The data given in the table shows the number of boys and girls interested in different sports in a school over 5 vears.

Gymnasium Horse Riding Swimming
Years | Boys | Girls | Boys Girls | Boys | Girls
2017 | 65 62 20 35 35 45
2018 | 72 45 22 32 32 42
2019 | 80 42 25 30 36 38
2020 | 62 46 30 23 28 34
2021 | 71 45 23 30 29 41

Let x% be the increase in the number of boys in horse riding from the year 2019 to 2020. What is the value of x?
Options :
1.« 20

) % 18

333 i |

Question Number : 118 Question Id : 7532296995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



{9 drferenT § weiRid i, s auf & a1 Uk whdl H [ Wal § i g4 ad desh! 3R dsidal &f el ol
ERURES

2017 65 62 20 35 35 45
2018 | 72 45 22 32 32 42
2019 | 80 42 25 30 36 38
2020 | 62 46 30 23 28 34
2021 | 71 45 23 30 29 41

T WO fb a8 2019 T 2020 A GSYART (horse riding) T ST TG a1 Toh! ol G-I H x% Pl JG 65 6 | x Pl
HM 1A BT

Options :
1.« 20

) % 18

Question Number : 119 Question Id : 7532296996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following table shows the number of seats reserved in different classes in a train on five different days. The
capacity of each class is given in the bracket.

Day 208 Class | 1tClass | ACIII | ACII | AC 1

Non-AC | Non-AC Tier | Tier | Class

(900) (500) (500) | (250) | (150)
Monday 750 410 390 240 145
Tuesday 820 400 450 230 120
Wednesday 730 360 480 220 130
Thursday 640 480 490 190 122
Friday 700 490 495 210 140

The number of reserved seats in AC classes on Thursday and Friday is what percent of the number of reservations taken
together in all the classes on Thursday and Friday? (correct to two decimal places)

Options :
1 % 4098
) o« 41.62

3 % 42.7

4 % 39.87

Question Number : 119 Question Id : 7532296996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g a1ftresT Ui 2rerT-aren o=t 7 e et | fafi ol & omfad dicl & 9 & guidl 81 Ude a1 &l
FRICAIETR A RIER

20d Class | 1% Class | ACII | ACII | AC 1®
2= ron-AC Mon-AC Tier Tier Class
(900) (500) (500) | (250) | (150)
TrER 750 410 390 240 145
HEER 820 400 450 230 120
AR 730 360 480 220 130
AR 640 480 490 190 122
: w | 700 | 490 | 495 | 210 | 140

T%dR (Thursday) Gﬁqw (Friday) &I AC TN H HRIT TicT &t e, [@dR (Thursday) Sﬁ?w (Friday)
&1 §ft 3711 o ol FHaa oRfEa Wiel 31 T & fabar HitRid & SRIeR 82 (1 SR RIH! ae guliichd)

Options :
1. % 40.98

5 41.62
3 % 42.78

4 % 39.87

Question Number : 120 Question Id : 7532296997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Number of students in six different colleges over the four years is given in the table.

Year | Colleges

A B @ D E F
2017 | 2400 | 2440 | 2130 | 2380 | 2320 | 2230
2018 | 2450 | 2400 | 2360 | 2080 | 2560 | 2350
2019 | 2860 | 2480 | 2360 | 2500 | 2540 | 2560
2020 | 2280 | 2560 | 2420 | 2750 | 2640 | 2550

The number of students in college A, in all the four years is what percent of the total number of students in all the

colleges taken together for the year 20207 (correct to one decimal place)
Options :
| 65.7

) #® 64.9
3 # 68.7
4 ® 673

Question Number : 120 Question Id : 7532296997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ﬂﬁaﬁ{}rears} %aﬂqﬁm—&ﬁﬂﬁ%ﬁﬁ (colleges) ﬁﬁwﬁﬁaﬁwmﬁaﬁa‘fﬂé%l

Flol
e A B C D E F
2017 | 2400 | 2440 | 2130 | 2380 | 2320 | 2230
2018 2450 2400 | 2360 | 2080 | 2560 | 2350
2019 | 2860 | 2480 | 2360 | 2500 | 2540 | 2560
2020 | 2280 | 2560 | 2420 | 2750 | 2640 | 2550

aft IR auf & Biciet a 7 faenffal &t e, ¥ 2020 7 Gt oSt & So faenfial & ven & fod- ufawd &
SR g2 (TS GHAT ™I ad Julifcha)

Options :
1. & 05.7
2. % 64.9
3 % 068.7
4. % 67.3
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Question Number : 121 Question Id : 7532296998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I’m looking forward
Options :

1. * for

2. ¥ to

3. % at

4. % on

the winter holidays.

Question Number : 121 Question Id : 7532296998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



I’m looking forward the winter holidays.

Options :
1. # for
2. ¥ to
3. % at
4. % on

Question Number : 122 Question Id
Orientation : Vertical

: 7532296999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teachers insisted frequent sanitisation of hands.

Options :
1. # along
2. % around

3. #* above

4. ¥ upon

Question Number : 122 Question Id
Orientation : Vertical

: 7532296999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teachers insisted frequent sanitisation of hands.

Options :
1. # along
2. % around

3. % above

4. ¥ upon

Question Number : 123 Question Id

: 7532297000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Seeing her parents, the child happily her hands.
Options :

1. ¥ clapped

2. % clapping

3. % clap

4. % has clapped

Question Number : 123 Question Id : 7532297000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Seeing her parents, the child happily her hands.
Options :

1. ¥ clapped

2. % clapping

3. % clap

4. # has clapped

Question Number : 124 Question Id : 7532297001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In the pictures, the actor in a shimmering blue outfit.
Options :

1. #* have been seen

2. % be seen

3. % can be seen



4. * has seen

Question Number : 124 Question Id : 7532297001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In the pictures, the actor in a shimmering blue outfit.

Options :

1. #* have been seen
2. # be seen

3. % can be seen

4. % has seen

Question Number : 125 Question Id : 7532297002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you are able to solve this riddle, I’1l accept that you are than me.
Options :

1. % clever

2. % cleverest

3. ¥ cleverer

4. % more cleverer

Question Number : 125 Question Id : 7532297002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you are able to solve this riddle, I’ll accept that you are than me.
Options :



1. # clever
2. * cleverest
3. % cleverer

4. * more cleverer

Question Number : 126 Question Id : 7532297003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian team against the Scotland team next Sunday.

Options :

1. * has played

2. % have played
3. # was playing
4. ¥ will be playing

Question Number : 126 Question Id : 7532297003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian team against the Scotland team next Sunday.
Options :

1. # has played

2. # have played

3. # was playing

4. ¥ will be playing

Question Number : 127 Question Id : 7532297004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Germany and China each other’s largest trading partners.
Options :

1. * is

2.9 are

3. # was

4. * be

Question Number : 127 Question Id : 7532297004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Germany and China each other’s largest trading partners.
Options :

1. * is

2.9 are

3. * was

4. * be

Question Number : 128 Question Id : 7532297005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Street Play is more of louder variant of theater.
Options :

1. # the

2. % one

3. a

4. % any

Question Number : 128 Question Id : 7532297005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Street Play is more of louder variant of theater.
Options :

1. ® the

2. % one

3. a

4. % any

Question Number : 129 Question Id : 7532297006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This is largest beetle I ever saw!
Options :

1. % a

2. ¥ the

3. * one

4. % an

Question Number : 129 Question Id : 7532297006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This is largest beetle I ever saw!
Options :

1. * a

2. ¥ the

3. # one



4. % an

Question Number : 130 Question Id : 7532297007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active form of the given sentence.

A careful analysis has been made of their shortcomings by their coach.
Options :

1. ¥ Their coach has made a careful analysis of their shortcomings.

2. # Their coach made a careful analysis of their shortcomings.

3. # They make a careful analysis of the shortcomings of the coach.

4. % Their coach makes a careful analysis of their shortcomings.

Question Number : 130 Question Id : 7532297007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active form of the given sentence.

A careful analysis has been made of their shortcomings by their coach.
Options :

1. ¢ Their coach has made a careful analysis of their shortcomings.

2. % Their coach made a careful analysis of their shortcomings.

3. #® They make a careful analysis of the shortcomings of the coach.

4. ® Their coach makes a careful analysis of their shortcomings.

Question Number : 131 Question Id : 7532297008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

We should put our heads together to do this job.
Options :



1. # Our heads will be put together to do this job.

2. ¥ Our heads should be put together to do this job.

3. % Our heads should have been put together to do this job.
4. ® Our heads should be putting together to do this job.

Question Number : 131 Question Id : 7532297008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

We should put our heads together to do this job.

Options :

1. # Our heads will be put together to do this job.

2. % Our heads should be put together to do this job.

3. % Our heads should have been put together to do this job.
4. #% Our heads should be putting together to do this job.

Question Number : 132 Question Id : 7532297009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

I have always been impressed Rohit Sharma’s batting.
Options :

1. # through

2. ¥ by

3. % over

4. ® from

Question Number : 132 Question Id : 7532297009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.



I have always been impressed Rohit Sharma’s batting.
Options :

1. % through

2. ¥ by

3. % over

4. # from

Question Number : 133 Question Id : 7532297010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Although they had been in conference for about eight hours, the talks without any consensus.
Options :

1. #* tied down

2. # ran through

3. ¥ broke down

4. # gave up

Question Number : 133 Question Id : 7532297010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Although they had been in conference for about eight hours, the talks without any consensus.
Options :

1. # tied down

2. % ran through

3. ¥ broke down

4. % gave up

Question Number : 134 Question Id : 7532297011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. ¥ Lokesh’s grandfather gifted him a beautiful, new bike.
2. # Lokeshs, grandfather, gifted him a beautiful new bike!
3. % Lokeshs’ grandfather gifted him a beautiful new, bike.
4. ® Lokesh’s grandfather, gifted him, a beautiful, new bike?

Question Number : 134 Question Id : 7532297011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. ¥ Lokesh’s grandfather gifted him a beautiful, new bike.
2. #® Lokeshs, grandfather, gifted him a beautiful new bike!
3. # Lokeshs’ grandfather gifted him a beautiful new, bike.
4. ® Lokesh’s grandfather, gifted him, a beautiful, new bike?

Question Number : 135 Question Id : 7532297012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. # Jyotis’ bags been stolen in the Metro.
2. ¥ Jyoti’s bag’s been stolen in the Metro.
3. # Jyoti’s bags’ been stolen in the Metro?
4. ® Jyotis bags been stolen, in the Metro?

Question Number : 135 Question Id : 7532297012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correctly punctuated sentence.
Options :

1. # Jyotis’ bags been stolen in the Metro.
2. ¥ Jyoti’s bag’s been stolen in the Metro.
3. # Jyoti’s bags’ been stolen in the Metro?
4. ® Jyotis bags been stolen, in the Metro?

Question Number : 136 Question Id : 7532297013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate indirect form of the given sentence.

Ritesh said, “What a cold day it is!”
Options :

1. # Ritesh told that it were a cold day.

2. % Ritesh shouted that it is a cold day.

3. # Ritesh asked is it a cold day?

4. ¥ Ritesh exclaimed that it was a cold day.

Question Number : 136 Question Id : 7532297013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate indirect form of the given sentence.

Ritesh said, “What a cold day it is!”
Options :

1. # Ritesh told that it were a cold day.

2. % Ritesh shouted that it is a cold day.

3. # Ritesh asked is it a cold day?

4. ¥ Ritesh exclaimed that it was a cold day.

Question Number : 137 Question Id : 7532297014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate direct form of the given sentence.

Tara asked Ajay if he knew where she stayed.
Options :

1. #® “You knew where I stayed?” Tara said to Ajay.
2. ® Tara said to Ajay, “He knows where you stay?”
3. ¥ “Do you know where I stay?” Tara said to Ajay.

4. ® Tara said to Ajay, “You know where I was staying?”

Question Number : 137 Question Id : 7532297014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate direct form of the given sentence.

Tara asked Ajay if he knew where she stayed.
Options :

1. # “You knew where I stayed?” Tara said to Ajay.
2. ® Tara said to Ajay, “He knows where you stay?”
3. ¥ “Do you know where I stay?” Tara said to Ajay.

4. ® Tara said to Ajay, “You know where I was staying?”

Question Number : 138 Question Id : 7532297015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

His approach to the team was considered to be but supportive.
Options :

1. # stubborn

2. ¥ firm

3. # rigid

4. % harsh



Question Number : 138 Question Id : 7532297015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

His approach to the team was considered to be but supportive.
Options :

1. * stubborn

2. % firm

3. * rigid

4. * harsh

Question Number : 139 Question Id : 7532297016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.

Of all his class mates, Rudra is the most competent.
Options :

1. * careful

2. * cautious

3. % carefree

4. ¥ capable

Question Number : 139 Question Id : 7532297016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.

Of all his class mates, Rudra is the most competent.
Options :

1. # careful



2. ® cautious
3. # carefree
4. ¥ capable

Question Number : 140 Question Id : 7532297017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

When they were parting, Rekha reminded Priya of her promise to
Options :

1. * hang in contact

2. ¥ keep in touch

3. * be at chat

4. % join at hand

Question Number : 140 Question Id : 7532297017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

When they were parting, Rekha reminded Priya of her promise to
Options :

1. * hang in contact

2. ¥ keep in touch

3. # be at chat

4. # join at hand
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Group Id : 753229362



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
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Group Marks : 20
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Section Id : 753229362

Section Number : 1
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229435

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532297018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

As soon as they turned the corner, the high, blue-coloured water tank
Options :

1. ¥ came into view

2. * became viewed

3. % was under view

4. % was viewed



Question Number : 141 Question Id : 7532297018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

As soon as they turned the corner, the high, blue-coloured water tank
Options :

1. ¥ came into view

2. # became viewed

3. % was under view

4. % was viewed

Question Number : 142 Question Id : 7532297019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

The leader of the opposition of the members of the House to the poor state of affairs in the public health institutions.

Options :

1. # pulled the notice

2. ¥ drew the attention

3. % called the concentration

4. % moved the awareness

Question Number : 142 Question Id : 7532297019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

The leader of the opposition of the members of the House to the poor state of affairs in the public health institutions.

Options :
1. # pulled the notice



2. % drew the attention
3. # called the concentration

4. * moved the awareness

Question Number : 143 Question Id : 7532297020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

DEFINITE
Options :

1. # final
2. ¥ unsure
3. * helpful

4, % exact

Question Number : 143 Question Id : 7532297020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

DEFINITE
Options :

1. # final
2. ¥ unsure
3. % helpful

4. % exact

Question Number : 144 Question Id : 7532297021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.



SURPLUS
Options :

1. # sufficient
2. ¥ shortage
3. ® excess

4. # enough

Question Number : 144 Question Id : 7532297021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

SURPLUS
Options :

1. # sufficient
2. ¥ shortage
3. # excess

4. # enough

Question Number : 145 Question Id : 7532297022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

RANDOM
Options :

1. # planned
2. # considered
3. % casual

4. % careful

Question Number : 145 Question Id : 7532297022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

RANDOM
Options :

1. % planned
2. # considered
3. % casual

4. % careful

Question Number : 146 Question Id : 7532297023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Rohit made enquiries about the company before deciding to the offer made by them.
Options :

1. # discrete, except

2. # discreet, except

3. % discrete, expect

4. ¥ discreet, accept

Question Number : 146 Question Id : 7532297023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Rohit made enquiries about the company before deciding to the offer made by them.
Options :

1. # discrete, except

2. # discreet, except

3. % discrete, expect

4. # discreet, accept



Question Number : 147 Question Id : 7532297024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

When something goes out of hand it means one has
Options :

1. # dropped it

2. % Jost control

3. # forgotten it

4. # given it away

Question Number : 147 Question Id : 7532297024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

When something goes out of hand it means one has
Options :

1. # dropped it

2. % Jost control

3. # forgotten it

4. % given it away

Question Number : 148 Question Id : 7532297025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Add insult to injury
Options :

1. % mock at someone’s weakness



2. % shame someone before others
3. % use one’s strength to hurt another

4. ¥ make a bad situation worse

Question Number : 148 Question Id : 7532297025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Add insult to injury

Options :

1. # mock at someone’s weakness

2. % shame someone before others

3. # use one’s strength to hurt another

4. % make a bad situation worse

Question Number : 149 Question Id : 7532297026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the proverb that fits most appropriately to the given context.

I’m tired of his tricks to deceive people. In his case it’s certainly true that
Options :

1. ¥ aleopard doesn’t change its spots

2. % one should not cry over spilt milk

3. ® actions speak louder than words

4. ® where there’s a will there’s a way

Question Number : 149 Question Id : 7532297026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the proverb that fits most appropriately to the given context.



I’m tired of his tricks to deceive people. In his case it’s certainly true that
Options :

1. ¥ a leopard doesn’t change its spots

2. % one should not cry over spilt milk

3. % actions speak louder than words

4. ® where there’s a will there’s a way

Question Number : 150 Question Id : 7532297027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

The papers flew all around because of the strong brieze.

Options :

1. # flew

2. # around
3. # because
4. ¥ brieze

Question Number : 150 Question Id : 7532297027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

The papers flew all around because of the strong brieze.
Options :

1. % flew

2. % around

3. % because

4. ¥ brieze

Question Number : 151 Question Id : 7532297028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

The bus suddenly started to move through the busling street.

Options :

1. # suddenly
2. % through
3. ¥ busling

4. % street

Question Number : 151 Question Id : 7532297028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

The bus suddenly started to move through the busling street.

Options :

1. # suddenly
2. # through

3. % busling

4. % street

Question Number : 152 Question Id : 7532297029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

Henry Ford was a genious who applied the principles of mass-production to the manufacturing of cars.

Options :

1. ¥ genious

2. % principles
3. # production

4. % manufacturing



Question Number : 152 Question Id : 7532297029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the underline word that is wrongly spelt in the sentence.

Henry Ford was a genious who applied the principles of mass-production to the manufacturing of cars.
Options :

1. ¥ genious
2. ® principles
3. # production

4. ® manufacturing

Question Number : 153 Question Id : 7532297030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.

Options :

1. ® Held up traffic over a lorry of sugarcane a fight between two elephants on the highway
2. % A fight between two held up traffic elephants over on the highway a lorry of sugarcane
3. ¥ A fight between two elephants over a lorry of sugarcane held up traffic on the highway
4. % Held up traffic a fight between two elephants on the highway over a lorry of sugarcane

Question Number : 153 Question Id : 7532297030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.

Options :

1. ® Held up traffic over a lorry of sugarcane a fight between two elephants on the highway
2. % A fight between two held up traffic elephants over on the highway a lorry of sugarcane
3. ¥ A fight between two elephants over a lorry of sugarcane held up traffic on the highway
4. ® Held up traffic a fight between two elephants on the highway over a lorry of sugarcane



Question Number : 154 Question Id : 7532297031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

We should building waste at source and facilitate proper disposal for recycling.
Options :

1. % redeem

2. % detach

3. ¥ segregate

4. % disconnect

Question Number : 154 Question Id : 7532297031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

We should building waste at source and facilitate proper disposal for recycling.
Options :

1. # redeem

2. % detach

3. ¥ segregate

4. % disconnect

Question Number : 155 Question Id : 7532297032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The judge found that the company had failed to take reasonable precautions the risk of accident.

Options :
1. ¥ against



2. * along
3. # across

4. * among

Question Number : 155 Question Id : 7532297032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The judge found that the company had failed to take reasonable precautions the risk of accident.

Options :

1. ¥ against
2. % along

3. ® across

4. % among

Sub-Section Number : 2
Sub-Section Id : 753229436
Question Shuffling Allowed : Yes

Question Id : 7532297033 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the questions given after it.

The growing number and share of older persons in Asia and the Pacific represent success stories of declining fertility and increasing longevity;
the result of advances in social and economic development. This demographic transition is taking place against the backdrop of the accelerating
Fourth Industrial Revolution. But the Covid-19 pandemic, with its epicentre now in Asia and the Pacific, has exacerbated the suffering of older
persons in vulnerable situations and demonstrated the fragility of this progress.

Asia and the Pacific is home to the largest number of older persons in the world -- and rapidly ageing. When the 2030 Agenda for Sustainable
Development was adopted in 2015, eight per cent of the region’s total population was 65 years or older. By 2030, when the agenda comes to an
end, it is projected that 12 per cent of the total population -- one in eight people -- will comprise older persons. Fifty-four per cent of all older
persons in the region will be women, and their share will increase with age.

Asia and the Pacific has made much progress in connecting the region through information and communication technologies (ICTs). At the same
time, it is still the most digitally divided region in the world. Approximately half of its population lacks Internet access. Women and older
persons — especially older women -- are the least likely to be digitally connected.



Covid-19 has demonstrated how technologies can help fight the spread of the virus, sustain daily life, support business continuity and keep
people socially connected. It has also shown that those who are excluded from the digital transformation, including older persons, are at increased
risk of being permanently left behind. Digital equity for all ages is, therefore, more important than ever.

The next few years provide an opportunity for Asia and the Pacific to build on its successes with regard to population ageing and rapid digital
transformation, learn from the tragic consequences of the pandemic, and promote and strengthen the inclusion of older persons in the digital
world. The 2022 Fourth Review and Appraisal of the Madrid International Plan of Action on Ageing and the further elaboration of the Asia-
Pacific Information Superhighway will allow countries to develop policies and action plans to achieve digital equity for all ages.

Sub questions

Question Number : 156 Question Id : 7532297034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main point in this passage is

Options :

1. ¥ To make an attempt to achieve digital equality for all.

2. # To try and reduce the alarming rates of infertility.

3. % To address the issue of increasing longevity in the region.

4. # To make people aware of the swift digital revolution

Question Number : 157 Question Id : 7532297035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that correctly matches the following words with their meanings:

Column A Column B
a) Exacerbated 1) exposed
b) Comprise i1) delicacy
c) Fragility 1i1) endure
d) Vulnerable 1v) worsened
e) Sustain V) contain
Options :

1. ¥ a-iv, b-v, c-ii, d-i, e-iii
2. % a-i b-iii, c-ii, d-v, e- iv
3. #® a-iv, b-v, c-iii, d-ii, e-i

4. # a-iii, b-v, c-iv, d-ii, e-i



Question Number : 158 Question Id : 7532297036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not mentioned as a learning from the pandemic and the rapid digital transformation?
Options :

1. ¥ How to fight the spread of the virus

2. % How to support day to day life

3. # How to keep people socially linked

4. ¥ How to develop new hobbies

Question Number : 159 Question Id : 7532297037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The demographic transition referred to in the beginning of the passage is evident in
Options :

1. # the education and literacy among the elderly in Asian countries

2. % the ability of the elderly to cope with technological advancement

3. % the great achievements of socio-economic development

4. ¥ the population trend towards increasing numbers of elderly persons

Question Number : 160 Question Id : 7532297038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT supported by the passage?

Options :

1. # The danger of being left behind is greater for the older people in the coming years.
2. % By 2030 the number of older persons in Asia and the Pacific will be 12 %.

3. ¥ There has been very little development in technology in Asia and the Pacific.

4. # Currently, approximately half the population in Asia and the Pacific lacks Internet access.

Question Id : 7532297033 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (156 to 160)
Read the following passage and answer the questions given after it.

The growing number and share of older persons in Asia and the Pacific represent success stories of declining fertility and increasing longevity;
the result of advances in social and economic development. This demographic transition is taking place against the backdrop of the accelerating
Fourth Industrial Revolution. But the Covid-19 pandemic, with its epicentre now in Asia and the Pacific, has exacerbated the suffering of older
persons in vulnerable situations and demonstrated the fragility of this progress.

Asia and the Pacific is home to the largest number of older persons in the world -- and rapidly ageing. When the 2030 Agenda for Sustainable
Development was adopted in 2015, eight per cent of the region’s total population was 65 years or older. By 2030, when the agenda comes to an
end, it is projected that 12 per cent of the total population -- one in eight people -- will comprise older persons. Fifty-four per cent of all older
persons in the region will be women, and their share will increase with age.

Asia and the Pacific has made much progress in connecting the region through information and communication technologies (ICTs). At the same
time, it is still the most digitally divided region in the world. Approximately half of its population lacks Internet access. Women and older
persons — especially older women -- are the least likely to be digitally connected.

Covid-19 has demonstrated how technologies can help fight the spread of the virus, sustain daily life, support business continuity and keep
people socially connected. It has also shown that those who are excluded from the digital transformation, including older persons, are at increased
risk of being permanently left behind. Digital equity for all ages is, therefore, more important than ever.

The next few years provide an opportunity for Asia and the Pacific to build on its successes with regard to population ageing and rapid digital
transformation, learn from the tragic consequences of the pandemic, and promote and strengthen the inclusion of older persons in the digital
world. The 2022 Fourth Review and Appraisal of the Madrid International Plan of Action on Ageing and the further elaboration of the Asia-
Pacific Information Superhighway will allow countries to develop policies and action plans to achieve digital equity for all ages.

Sub questions

Question Number : 156 Question Id : 7532297034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main point in this passage is

Options :

1. ¥ To make an attempt to achieve digital equality for all.

2. # To try and reduce the alarming rates of infertility.

3. % To address the issue of increasing longevity in the region.

4. # To make people aware of the swift digital revolution

Question Number : 157 Question Id : 7532297035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that correctly matches the following words with their meanings:



Column A Column B

a) Exacerbated 1) exposed
b) Comprise 11) delicacy
c) Fragility 1i1) endure
d) Vulnerable iv) worsened
e) Sustain V) contain
Options :

1. ¥ a-iv, b-v, c-ii, d-i, e-iii
b b b b
2. # a-i b-iii, c-ii, d-v, e- iv
b b b
3. % a-iv, b-v, c-iii, d-ii, e-i
b b b

4. # aiii, b-v, c-iv, d-ii, e-i

Question Number : 158 Question Id : 7532297036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not mentioned as a learning from the pandemic and the rapid digital transformation?
Options :

1. ¥ How to fight the spread of the virus

2. % How to support day to day life

3. # How to keep people socially linked

4. ¥ How to develop new hobbies

Question Number : 159 Question Id : 7532297037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The demographic transition referred to in the beginning of the passage is evident in
Options :

1. # the education and literacy among the elderly in Asian countries

2. % the ability of the elderly to cope with technological advancement

3. % the great achievements of socio-economic development

4. ¥ the population trend towards increasing numbers of elderly persons

Question Number : 160 Question Id : 7532297038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT supported by the passage?

Options :

1. # The danger of being left behind is greater for the older people in the coming years.
2. % By 2030 the number of older persons in Asia and the Pacific will be 12 %.
3. ¥ There has been very little development in technology in Asia and the Pacific.

4. ® Currently, approximately half the population in Asia and the Pacific lacks Internet access.
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532297039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT T UBR BT T YD 3T 67
Options :

1. % JOoidh

2. % fqUSIdh

3. # fRIyeR®

4. ¢ URUMHGRI®

Question Number : 161 Question Id : 7532297039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T’ fobd UHR BT Hﬂwqd\lw 3oy %?
Options :

1. % TSI

2. % fqursis

3. % faRIygs

4. ¢ URUTHCRID

Question Number : 162 Question Id : 7532297040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GO R B3 el UT1° I H T ‘TR DI AT RS g2
Options :

1. % hO[

2. ¢ S{IYBRT

3. % Hdy




4. % Ui+

Question Number : 162 Question Id : 7532297040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P R Pl ol UT1° I B Ugad T’ S I HRSP 82
Options :

1. % dI0]

2. ¢ SHIYBRT

3. % gdy

4. % AHUlqMH

Question Number : 163 Question Id : 7532297041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UrgT-NeT g UBR o1 uRHvERS foar faor g2
Options :

1. % AqEYD

2. % TitsIyD

3. ¢ fUrarES

4. % JeTISNYD

Question Number : 163 Question Id : 7532297041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NST-UIST fhg UpR o1 ulATuares fosar faivo g2
Options :

1. % YAdEIYD

2. % yyiftaiys

3. ¢ AfOEES

4. % qAAEIUD




Question Number : 164 Question Id : 7532297042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fFg UHR &1 faQwor g2

Options :

1. ¢ TUIdTd

2. ® YD

3. % ORHATUEIYS

4. % HoHD

Question Number : 164 Question Id : 7532297042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
reT g UPR &1 fawor g2
Options :

1. ¢ T[UIdTd

2. % WIS

3. % URHATUEYD

4. % QTS

Question Number : 165 Question Id : 7532297043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
grdter 359 UHR &) 931 82

Options :

1. * HfeRiarae

2. % Glfddrdd

3. % Y[ddHdd

4. % gdldd



Question Number : 165 Question Id : 7532297043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e {59 TR &1 U3 82

Options :

1. % Sfqdrd

2. % Wflfddred

3. ¢ YH[dd[dh

4. % SHIEH

Question Number : 166 Question Id : 7532297044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 HF 1 faded 9 & g 3R 3P 360 &1 2 I gafad el 82
Options :

1. % Hdyardd — ol

2. % UYATID — B

3. % YYD - O

4. ¢ FioarE® - o

Question Number : 166 Question Id : 7532297044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 &F 91 fadhed ¥a & g 3R 3P IG16R01 &1 € I gafad Tal 62
Options :

1. % Heyardd — S

2. % YYArad — DA

3. # fggar® - 5B

4. ¢ FAorara® - &

Question Number : 167 Question Id : 7532297045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faret Srem @ 1> o # fohd TR &1 fohar 82
Options :

1. ¢ g fobar

2. % fgH® foear

3. ® AHAIYS fobar

4. % gdpIad fohar

Question Number : 167 Question Id : 7532297045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S} Srs @ gt | {59 UsR &t fosan 82
Options :

1. ¢ §gad febar

2. % fgopde fopa

3. % AHIYSD fobd

4. % gdap1ieres fopd

Question Number : 168 Question Id : 7532297046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT BT el WiY-fawg 8-

Options :

1. % g0 +qN

2. ¥ g+ Ay

3. % I+ A

4, % T+ AN

Question Number : 168 Question Id : 7532297046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
AT BT el WiY-fawg 8-

Options :

1. % g0 +qN

2. ¥ g+ Ay

3. % g+ A

4, % T+ AN

Question Number : 169 Question Id : 7532297047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG WD I Y 52

Options :

1. % T[0T TR iy

2. % gfg WR Y

3. ¢ U &R Y

4. % 3T WR Y

Question Number : 169 Question Id : 7532297047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T WD A Y 52

Options :

1. % T[0T TR Y

2. % gfg R Iy

3. ¢ QUL TR Y

4. % 3Tie WR HfY

Question Number : 170 Question Id : 7532297048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HTHAR’ BT Yo! JAY-IaUE gHTI-
Options :

1. ® IR BT HMH

2. % HHWIAR

3. % IR} BT B B ardl

4.« DTH Y Sl IR qTell

Question Number : 170 Question Id : 7532297048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“BIHAR’ BT Yol FHRI-fATE BHTI-
Options :

1. % AR DI DHMH

2. % HH R AR

3. % IR BT HTH B dTel

4. ¢ HTH Y St TRM a1ar

Question Number : 171 Question Id : 7532297049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STeTeAr H DI I GHN &7

Options :

1. ¥ 48

2. % g1

3. % dey

4. % 3fogdl HId

Question Number : 171 Question Id : 7532297049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAgEr § HH 91 9E 82




Options :

1. ¥ %8

2. % g7

3. % Y

4. % 3[ogdt HIg

Question Number : 172 Question Id : 7532297050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTgT fieT & Ui 3R ORI ¥ g1 &1 4T e 81T €, 981 D 1F AT SAHR BIdl g7
Options :

1. % YifqHH

2. % faRIUTHI

3. ¢ oA

4. % fqHIGAT

Question Number : 172 Question Id : 7532297050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STRT T I TR IR U= ¥ el o1 HId 0ad §idT 8, 961 dIF 91 S[ADR gl 67
Options :

1. % Yifeam

2. % faRIUTH

3. ¢ KA

4. % fqyra-r

Question Number : 173 Question Id : 7532297051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W 1 yaigare -

Options :



1. % 3fg
2. % Y
3. % faf¥ra
4. v P9

Question Number : 173 Question Id : 7532297051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT TFiTar 2-

Options :

1. % 3ffg

2.% g4

3. % fafdrg

4. v I9

Question Number : 174 Question Id : 7532297052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T I BI-

Options :

1. % Had

2. ¥ Jbhd

3. % I

4. % Jud

Question Number : 174 Question Id : 7532297052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG 1 faadId gI-

Options :
1. * Had



2. ¥ UHe
3. % 7d
4. % g

Question Number : 175 Question Id : 7532297053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT 34 T8 Bl

Options :

1. ¢ W[

2. % Y]

3. % foTepT

4, % gy

Question Number : 175 Question Id : 7532297053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R B 31 g gIel-

Options :

1. ¥ WR[d

2. % 1Yl

3. % fosrepT

4. % g¥

Question Number : 176 Question Id : 7532297054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR — =1 e G 1 Wal o B-
Options :

1. * ]RTd —d

2. % d - Hiqhdl



3. % Orehdl — digt
4. ¥ HIGHdl — d

Question Number : 176 Question Id : 7532297054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR — =1 <Teq g 7 WaT o &-

Options :
1. % YRIF - Xd
2. % Xd — Highdl

[a}

3. % Tlgdhdl - digl
4, « Hlghdl — Id

Question Number : 177 Question Id : 7532297055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T - e 31 & foTe THYd W< -
Options :

1. % Wd-Wg

2. % gg—9d

3. ¢ Wa - 4d

4. % Wg-4a

Question Number : 177 Question Id : 7532297055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T - g 31 & fore grYd v §-
Options :

1. % Wd-Wg

2. % 4 -4

3. ¥ Wa - 4d



4, % W - 9g

Question Number : 178 Question Id : 7532297056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT GATTf Teq -

Options :

1. ¢ YDBR

2. % HAHA

3. % qnId1

4. % 9

Question Number : 178 Question Id : 7532297056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T’ BT FATT e B-

Options :

1. ¢ ISR

2. % Pl

3. % qIdl

4. % g9

Question Number : 179 Question Id : 7532297057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HeH ST 3 & 7T gt geTarl I A1 g2
Options :

1. % YT HiHT

2. ¢ Wil foeeit o=

3. % Hg IRAT

4. % HYT SR



Question Number : 179 Question Id : 7532297057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEH ST 3% & oy Tl HeTaRT I | g2
Options :

1. % YT e

2. ¢ il foreedt &1

3. % g IRl

4. % HIYT SADAT

Question Number : 180 Question Id : 7532297058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G I Hg GadT & Adbliad Bl Tgt 312 §-
Options :

1. % TR I BT g grar g

2. % gAFSR A Hrd Rig gl g

3. % QU A e RIg giare

4. ¥ HORATY BRI g g |

Question Number : 180 Question Id : 7532297058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% gaH 9 g GadT ¢ Aeplad &1 Fal 37 g-
Options :

1. % UR Y 1 g grare

2. % TR A o Rig gy

3. % QUG B g aare

4.« HRATY B g BN 7
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Question Number : 181 Question Id : 7532297059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BH 30 T3 &1 g 3% T 1 AU |” e o b SfT T gt &1 (S &7

Options :

1. % g 3A




2. ¥ GI3d Bl
3. % AdgTdle A
4. % H AU

Question Number : 181 Question Id : 7532297059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST TS BT e 3 | ST AU 1o & oy Sf=r B T+t bt Syfg B2

Options :

Question Number : 182 Question Id : 7532297060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo 7 319 faare & Iudel # grad <1’ e & g o Hf ad=t &t 3fa /7
Options :

1. ® fosa =

2. % 3(UH faarg

3. ¢ & JUAY H

4. % qrad 4|

Question Number : 182 Question Id : 7532297060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo 7 319 faare & Sudel & arad <1’ e & oy ofe H ad= &1 S &7
Options :

1. % faog A
2. % 3ud faarg




3. ¢ & JUay H
4. % grad 4l

Question Number : 183 Question Id : 7532297061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad 7 9 &1 I1 Xeg dga 82
Options :

1. % 1

2. % g

3. ¢ 4

4, % 994

Question Number : 183 Question Id : 7532297061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o 9 I 91 et dad 67
Options :

1. * 4

2. % g1

3. ¢ 4|

4, % 9gq

Question Number : 184 Question Id : 7532297062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 FHeid > TR 1 BT &-

Options :

1. ¥ TdegHe 4d

2. % H Hd

3. % G IAHA



4. % gdgqHg Hidw

Question Number : 184 Question Id : 7532297062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a8 T > IR BT BT 6-

Question Number : 185 Question Id : 7532297063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feremdf = geae udit € 1° drer b1 e -
Options :

1. % HHY adHH

2. ¥ U1 g™

3. % QTchIfeih I

4. % Hiew adAH

Question Number : 185 Question Id : 7532297063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faanff 3 g ugt 8 I” a1 &1 HI ©-
Options :

1. % G g9

2. ¢ Ul A

3. % AIHITAId IdHM

4. % T gdam




Question Number : 186 Question Id : 7532297064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o a1 areg Ay areg 72
Options :

1. % O §H & DHRU[ dreTHgd g1 Agy|

2. % A9 ¢ ST dIoHed ol a1fgu|

3. ¢ 98 I 1 79X g, foRm aoied 7 31 8|
4. % it ISl A AToHE S ST BT

Question Number : 186 Question Id : 7532297064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofaRad o 9 oF 1 are By are 82
Options :

1. % O §IF & HRUl dAroHgd ¢E-l dlgU|

2. % A9 ¢ SHfAY dIoHed ol a1gu|

3. ¢ 98 I A1 7™ g, foRm droied A 411 g
4. % 9} I} A IToHEd <l g1

Question Number : 187 Question Id : 7532297065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 &F 91 aTe Iged ardd 82
Options :

1. % TIRAT A 7 TH & 916 T foba|

2.« TIRET A 9 dHad 1id TN dfewd g H faa|
3. % I T & SRR A I foa|

4. % TIRTT A e T o 7 T



Question Number : 187 Question Id : 7532297065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefed o 9 i 91 aTed Yged aTed 82
Options :

1. % TR@AT A 1td T & 91 I foa|

2.  TIRAT A 9 had a7 dfees T foba
3. % T T & SR TIRAT A 7 foa|

4. % TIRTT A T T i 7 T

Question Number : 188 Question Id : 7532297066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad & @ o 91 9/ IRd 9199 82

Options :

1. % YT GRS BIdT 5, SHITAT FHi SHBT T IR 6|
2. % it A H1 T FRa § 1% 98 YT BT 8|
3. % S AP ST BidT 7, IIDT 3T I Ha B

4. ¢ SHT AP BT TR U HA B |

Question Number : 188 Question Id : 7532297066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRofefad & ¥ o9 97 9190 IRd 91 82

Options :

1. % I Y4 BidT 7, 3ot I+ IHHT T HRId B
2. % uft AP &1 T HRA € FifP I8 TUHII ST =B |
3. % o 9% ST BIaT 7, ITHT 3R I+ v B

4. ¢ YT AP BT 3 Tt B B

Question Number : 189 Question Id : 7532297067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HedYUl Y, He1ad 3Nfe BT Ieokd HRd A by favH forg &1 wanT fosan S anfge
Options :

1. ¢ GoXT IVl g

2. % SHERI I g

3. % fagv Il fog

4. % fqwaIfediy® g

Question Number : 189 Question Id : 7532297067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HE@YUl B, HETad 3G BT Iced HRd THY fohd foRH Torg 1 9T fopan S anfewe
Options :

1. ¥ GENT S0l g

2. % BB I g

3. % fagr IR g

4. % fqupdaiys g

Question Number : 190 Question Id : 7532297068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # T @ g o are?
Options :

1. %

Question Number : 190 Question Id : 7532297068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafad # T @ g o A e?
Options :

1. %

Question Number : 191 Question Id : 7532297069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ¥ @ o a1 faeea srf 1 efd J a1 9g T8l 2
Options :

1. ¢ JIETATED

2. #® g=3[AIdD

3. * Ydgar®

4. % ITFATED

Question Number : 191 Question Id : 7532297069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed 3 3 oF a1 fawe of o e 3 are &1 e 181 82
Options :

1. ¢ STCRTATEH

2. % g[AIdh

3. % Hdgdrdd

4. % SMFAED

Question Number : 192 Question Id : 7532297070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 B =P A B 7 a1 Tel 72
Options :

1. % X 3 3R o Wl
2. ¢ IR 3 3R fHraTs @A
3. % QT 3 3R f3TE Wil
4. % R AW AR e |

Question Number : 192 Question Id : 7532297070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
399 P €D I I 71 I L B2
Options :

1. % R AW 3R Hrars @

2. ¢ A 3 3R fHaTs TRt

3. % P MY 3R fHars TH|

4. % X 3 3R o1 Wi |

Question Number : 193 Question Id : 7532297071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o HTET ] 38T YT a1 & Jaifobd 32 3 oy Sugad Ueg; BT
Options :

1. % <l

2. % fgan

3. % e

4. ¢ T

Question Number : 193 Question Id : 7532297071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uk AT GHI 8T U7 | dTed & Xdifoba 3R o oy Iugerd e gITI-




Options :
1. % <l
2. % fgell
3. % fa@r
4. v T

Question Number : 194 Question Id : 7532297072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“AFTgd Tar 35T UY g | AT & o I & foIe Iugad Xrsg ghm-
Options :

1. % 3ffd

2. % YD

3. ¥ dgd

4. % TERTH

Question Number : 194 Question Id : 7532297072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WEAMAr STUY | AT & Rad RIM & 7Y SUgeR Wsg ghTl-
Options :

1. % 3ffc

2. % BT

3. ¥ dgd

4, % SdRqid

Question Number : 195 Question Id : 7532297073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfafa = s fard @ | a1 & Rad R & o1 Iugad Teg &-

Options :



1. % S

2. ¥ UEId
3. # 3yftig
4. % gAfdqg

Question Number : 195 Question Id : 7532297073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfaF e fRad Pl AT 3 Rad R & oY Suged vk ©-
Options :

1. ® SR

2. ¥ Ud

3. % 3ftd

4. % gofdd

Sub-Section Number : 2

Sub-Section Id : 753229439
Question Shuffling Allowed : Yes

Question Id : 7532297074 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

U 3R 4T B UGRI U W1 g1 GIHT 30-30 fawl ¥ QR 8 &1 URUM Rl & | TR HI HT [T HTelt BT T 3 (YT FHr1=aran gl
g1 3R gon F1 faw It 01 % a1 I & ATIRT H G Scd HR arell | gun & 950 J I8 THeh ol ¢ [ S ieR #1139 a8 ¢
BT § SU YHR &1 ¢dl S R Y & g J I8 THl ST § b ot 3iR U &1 1fie ofid g <7 | g i1 8] §, 0 &1 SR g,
TR U BT & S BAR TR SR S{UDR Hal el &1 WR I fob Ueb SrfdiRerd i g1 e For a1t &7 58 17 ol g 89 W M1 Ul it
AR R

STRI TR & YR R FafaRad usi & 3w i)

Sub questions

Question Number : 196 Question Id : 7532297075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
9 o 9 forge! Uiy U 9 82
Options :

1. % GO 3R T

2.« gUIl 3R 1Y

3. % 1 3R AN

4. % gUT 3R gW

Question Number : 197 Question Id : 7532297076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§HR GGR! & YD Id by UTd & HRUT UaT Il 82
Options :

1. & YUI

2. % Hg

3. % g9

4. % FA

Question Number : 198 Question Id : 7532297077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG & g B S 1 B T8t e 87
Options :

1. % YT RI DI BTG

2. % W TS falad FAw B

3. ¢ YW R G

4. % WO FIY R B

Question Number : 199 Question Id : 7532297078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAR o1 37 glaT 8-



Options :
1. % gy
2. % 3dlg
3. % &R

4. ¢ el

Question Number : 200 Question Id : 7532297079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT Hallft IUYH e BHTI-
Options :

1. ¢ YT 3R g

2. % YT R AN

3. % GOy
4. % Yg

Question Id : 7532297074 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No

Question Numbers : (196 to 200)

YU 3R Y &1 UGl U Tt g | S STH-30 TIoi I R 819 Bt IR & § | TR ¥ T fawr Hidt 8117 1 srcdd g axmiaran gran

g1 3R gur & fawa It 107 S5 a1 I & ATIR! & b I HR- aTdT | o & 95T J I8 U SIdT 6 [ S PR #1 3@ I8 <

BT ¢ ST YHR &1 ¢dl S R Y & favg J I8 FHel 1T § 1o ot 3R TR &1 i oid -1 <7 | g i 8] §, 0% DI ST G,

gﬂfﬁw%eﬁﬁnﬁarﬁ&ﬁwiwﬁﬂﬂﬁ%lmwﬁﬁwmm%aﬁmaﬁwsﬁwmaﬁnwefﬂu@a‘r
Glex IR Ugd|

IR T & 3MYR R Faferiad gsi & I diforal

Sub questions

Question Number : 196 Question Id : 7532297075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 fopaep! Uqfti Ueb WA 82

Options :



1. % YOI 3R T
2. ¢ GO 3R 4
3. % YT 3R W
4. % gUT 3R gW

Question Number : 197 Question Id : 7532297076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§UR eI § Y Id by UG & HRUT Ul BIdT 52
Options :

1. & YOI

2. % Hg

3. % g9

4. % FAY

Question Number : 198 Question Id : 7532297077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 & e B P 1 Hy T T R
Options :

1. % YT &I S ST

2. % Y TP HfaRed 5|

3. ¢ YO TR g

4. % Yg R T 5

Question Number : 199 Question Id : 7532297078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAR BT 3 Bl &-
Options :

1. % Y



2. % I
3. % &
4. ¢ Uil

Question Number : 200 Question Id : 7532297079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T Haiddh Sugad X gI-
Options :

1. ¥ gUI 3R Yg

2. % 1Y 3R T

3. % YU

4. % Yy



